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UGC NET PAPER 2 NOVEMBER 20, 2021 SHIFT 1 INDIAN CULTURE QUESTION PAPER

Topic:- IndianCulture_A

1) Which of the following Mesolithic sites has vielded evidence for animal domestication?
(1) Adamegarh in Madhya Pradesh (2) Birbhanpur in West Bengal

(3) Patne in Maharashtra (4) Paisra in Bihar
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2) In which of the prehistoric cultures has been found a hunting scene, engraved on stone, of a stag being hunted with a
spear and an arrow?

(1) Chalcolithic Mehrgarh (Z) Neolithic Burzahom
(3) Mesolithic Paisra (4) Lower Palaeolithic Bhimbetka
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3) Noting the presence of altars on Kalibangan’s three mounds, who among the following

scholars remarks, ‘these three contexts suggest that fire rituals formed a part of the religious

life of the town, at a civic, domestic and popular level’?

(1) Jonathan Mark Kenoyer (2) Dilip K. Chakrabkarti

(3) Raymond Allchin (4) S.R. Rao
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4) The Gopatha Brahmana relates an interesting story of a distinguished scholar of Kuru-
Panchala. He was moving through the country carrying a banner to which a Nishka was

attached. He had offered the same (Nishka) to one who could defeat him in debate. Identify

this scholar:
(1) Raikva (2) Svetaketu
(3) Uddalaka Aruni (4) Yajnavalkya
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5) In which of the following Upanishads ftihasa purana is called ‘Pancham Veda’?
(1) Brihadaranyaka Upanishad (2) Mundaka Upanishad
(3) Chhandogya Upanishad (4) Kena Upanishad
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6) Who among the following women during the period of Gautama Buddha converted her father-in-law to Buddhism?
(1) Amrapali (2) Bhadrakundalakesi
(3) Prakriti (4) Visakha
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7)  According to Baudhayana the standard annual rate of interest was

(1) 6% (2) 8%
(3) 10% 4y 12%
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8) In Mahabharata at the time of the marriages of Gandhari and Madri a heavy bride-price had
to be paid to their guardians. This form of marriage is called

(1) Asura (2} Gandharva

(3) Paishacha (4) Rakshasa
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9) Which of the following was the basic principle of ancient Indian medicine?
(1) The doctrine of guna (2) The doctrine of dosha

(3) The doctrine of prana {4) The doctrine of ayu
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10) In which period are iron tongs, pliers and scissors known to have been first used in India?

(1) Later Vedic (2) Post-Vedic
(3) Mauryan (4) Post-Mauryan
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11) The Naturalis Historia was written by

(1) Plutarch (2) Pliny
(3) Ptolemy {(4) Kosmas Indicopleustes
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12) Which of the following inscriptions mentions the two types of Sachivas - Mantra Sachiva

(Minister) and Karma Sachiva (Executive Officer)?

(1) Hathigumpha Inscription of Kharavela
(2) Nasik cave Inscription of Vasishthiputra Pulumavi
(3) Junagarh Inscription of Rudradaman I

(4) Junagarh Inscription of Skandagupta
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13) Who among the following rulers issued coins with the figures of Skanda under various

names such as Kumara, Visakha and Mahasena?
(1) Agathokles (2) Kanishkal
(3) Huvishka (4) Vasudeva
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14) According to the Kamasutra, a ganika was NOT expected to:
(1) Play musical instruments (2) Perform conjuring tricks

(3) Have knowledge of literature (4) Choose the object of her love
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15) In which of the following temples 108 karanas of Bharatanatyam described in the
Natyasastra of Bharatamuni are represented?
(1) Great Kailasa Temple, Ellora (2) Kailasanatha Temple, Kanchi

(3) Lingaraja Temple, Bhubaneswar (4) Nataraja Temple, Chidambaram
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16) Goloki matha mentioned in early medieval inscriptions belongs to the school of
(1) Pasupata (2) Saiva Siddhanta

(3) Pancharatra (4) Vaikhanasa
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17) Which of the following is NOT a part of R.S5. Sharma’s view of urbanism in early India?

(1 The first stage of decline of urban centres began in the 3" or 4th century A.D.
(2) Deurbanisation started in the post-Gupta period

(3) There was a mild revival of urbanism in the 11t Century A.D.

(4) A major evidence of urban decline is the account of Xuanzang
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18) Dipankara Srijnana had studied under Chandrakirti in:
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(3) Kashmir (4) Suvarnadvipa
A A 3 TEEhifa o foan wew i oA
(1) ==ERH 2 w=hd
(3) =yl A (4) gavigm H

[Question ID = 1421][Question Description = Q18_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5681]
2. 2

[Option ID = 5682]
3.3

[Option ID = 5683]
4, 4

[Option ID = 5684]

19) Saiyyid Salar Masud Ghazi who is venerated as a sufi saint and whose tomb is at Bahraich

was the soldier in the army of which of the following Sultans?

(1) Mahmud of Ghazni {2) Subuktigin
(3) Alaptigin (4) Qutbuddin Aibak
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20) So far as the Muslim ulama were concerned which of the following sultans allowed this ‘army

of prayer’ to be controlled, managed and provided for by his sadr-us sudur

(1) Iltutmish (2) Alauddin Khalji

(3) Firuz Tughlag (4) Sikandar Lodi
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21) Who among the following Sultans issued a farman for the construction of a new basti

upasraya (rest house for monks and a go-math (gaushala; resting place for cows)?

(1) Balban (2)  Alauddin Khalji
(3) Muhammad bin Tughlaqg (4) Firuz Shah Tughlag
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22) About which of the following Sultans |Ibn Battuta writes that, ‘One of the habits of the
Sultan of India is to love foreigners and to honour them by specially appointing them as

governors and high officers’?
(1) Alauddin Khalji (2) Qutbuddin Muhammad Shah Khalji
(3) Muhammad Tughlaq (4) Firuz Tughlaq

frefefias & o fra gear & an d 51 sq@ 3 foan € 76 “yra @ gean e w9 @ fRfet w
THE Al B ST 3% WeATa A 0 3% vy w9 ¥ e o 3= et S e w T a2 7

(1) A=A el (2) FagEA HEHg T TeAA!
(3)  Hemg gEh (4) T e

[Question ID = 1425][Question Description = Q22_IndianCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5697]
2. 2

[Option ID = 5698]
e

[Option ID = 5699]
4. 4

[Option ID = 5700]

23) About which of the following Sultans, Afif writes that, ‘He (the Sultan) with the help of

astronomers invented the tas-ghariyal - a metal cup perforated at the bottom which, when

put in a tub of water would be filled up and sink after a ghari or twenty four minutes’?

(1) Alauddin Khalji (2) Firuz Tughlag

(3) Mubarak Shah (4) Sikandar Lodi
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24) Shaikh Bahauddin Zakariya belonged to which of the following sufi silsilahs?

(1) Chishti Silsilah (2) Nagshbandi Silsilah
(3) Firdausia Silsilah (4) Suhrawardi Silsilah
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25) Who among the following translated Varahmihr’s Brihat Samhita into Persian, named

Tarjamah-i Barahi?

(1) Izz al-Din Khalid Khani (2) Abd al-Aziz bin Shams
(3) Abdul Qadir Badauni (4) Faizi
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26) The beneficiaries of which of the following grants were not, directly, individuals but

institutions?
(1) Augaf (2) Inam-i al-tamgha
(3) Amlak (4) Idrar
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27) Who among the following travellers pays glowing tribute to the prosperity of Bijapur
nd praises the diamonds from Golkonda?

(1) Ralph Fitch (2) William Leeds

(3)  Jean de Thevenot (4)  william Finch
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28) Who among the following is known to have introduced eminent Jain scholars Man Singh and
Jai Chand Suri to emperor Akbar?

(1) Raja Rai Singh of Bikaner (2) Todar Mal
(3) Karam Chand (4) Birbal

frafafaa # @ fra & sr % vw wwen 9w 2 fF s aw i ot 5w gl S ufag SE fagml =i
STEITE TFER F THeT Wegd fokar oy

(1) = % oo ™ e (2) 2= A
(3) FW T (4) e

[Question ID = 1431][Question Description = Q28_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5721]
2, 2

[Option ID = 5722]
%

[Option ID = 5723]
4, 4

[Option ID = 5724]

29) At which of the following places Jahangir, as prince Salim, established his own independent
painting workshop?

(1) Allahabad (2} Qudh
(3) Gwalior (4) Mandu
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30) Which of the following group of thinkers believed that education should be imparted through spread of true
faith and eradication of ignorance and superstition?
(1) Utilitarians (2) Orientalists

(3) Evangelicals (4) Anglicists
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31) Who was appointed the Professor of Sanskrit at Fort William College of Calcutta in 18007

(1) William Jones (2) Henry T, Colebrook
(3) Jagannath Tarka Panchanan (4) Radhakanta Deb
- N i
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32) Modern Indian Scholarship on Indian art was born and bred under the aegis of Orientalism.
Which of the following pioneering works was produced under British initiative and directions
for a Western readership?

(1 The Antiquities of Orissa - Dr. Rajendralala Mitra
(2) Essay on the Architecture of Hindus - Ram Raz
(3) Hinduism and Buddhism - Anand K Coomaraswamy

(4) Fine Arts of Ancient India, with a Short Sketch of the Origin of Art - Shyama Charan
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33) While interpreting India’s art, which Orientalist scholar remarked that the remains of
architecture and sculpture were mere ‘monuments of antiguity and not specimen of art,
which seemed to share their origins with the arts of Africa’,

(1) Colin Mackenzie (2) James Fergusson
(3) Alexander Cunningham (4) William Jones
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34) Who were the two painters of Delhi commissioned by the Fraser brothers in about 1815 to
paint water colours of the inhabitants of Delhi?

(1) Ghulam Ali Khan and Lallji (2) Bhawani Das and Ram Das
(3) Thomas and William Daniell| (4) Shiekh Mohammad Amir and Lallji
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35) In which year the Indian (Imperial) Museum was established at Kolkata, a cradle of the
Asiatic Society of Bengal?

(1) 1814 (2) 1815
(3) 1818 (4) 1820

HITEE 5, N o TEnieE gMedl oF e H geaed o1, 1 aRdE (FEifee) anae i s
g o | i Y

(1) 1814 (2) 1815

(3 1818 (4 1820

[Question ID = 1438][Question Description = Q35_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5749]
2. 2

[Opticn ID = 5750]
3.3

[Option ID = 5751]
4, 4

[Option ID = 5752]

36) Sayyid Ahmad Barelwi was the founder of which socio-religious reform movement?
(1) Faraizi (2) Ahmadiyya
(3) Tarigah-i Muhammadiyah (4) Dar-ul Ulum Deoband

g 3TENT, STl (Aefiad § B 5 QETiesh-aiiis gUR AGeE % 9o 37

(1) Wt @) swEAfeT
(3)  alw-T e (4) Tred I aeg

[Question ID = 1439][Question Description = Q36_IndianCulture_SHAAN_20NOVY_S1_Shift1]
1. 1

[Option ID = 5753]
2.3

[Option ID = 5754]
L

[Option ID = 5755]
4, 4

[Opticn ID = 5756]
37) Who condemned the reform movements of 19" century as elitist and invoked the ideal of
social service? According to him the best way to serve God was to serve the poor people,
(1) Raja Ram Mohan Roy (2) Ramkrishna Paramhamsa

(3) Dayanand Saraswati (4) Vivekanand

firqifr § @ R 1991 Bl % GUR STEe F STTESTeT STigre i W < SRt Frer I o wae
TAT & STEH T M A7 I °d B (6 =afwar i WAy $va< i garas Ha 2|

(1) T T Higd T (2) TOFS WHEH
(3)  FAMg Al (4) Tz

[Question ID = 1440][Question Description = Q37 _IndianCulture_SHAAN_20NOVY_S1_Shift1]
1. 1

[Option ID = 5757]
| 2.2
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[Option ID = 5758]
3.3

[Option ID = 575%9)
4, 4

[Option ID = 5760]

38) Sir Charles Wood’s despatch of 1854 emphasized on :

(1) English education for the elite population

(2) The expansion of Sanskrit and Oriental scholarship
(3) Mass education in the vernacular

(4) Religious education

1854 = WX =0 I3 & fowd= 0 f=tsa § @ g W s fomm e

(1)  wniienes semg = fore smish e (2) ToFa SR A e w1 mer
(3) Ty v F wfew fan (1) nfites fem

[Question ID = 1441][Question Description = Q38_IndianCulture_SHAAN_20NOV_S1_Shift1]
1, 1

[Option ID = 5761]
2. 2

[Option ID = 5762]
£

[Option ID = 5763]
4, 4

[Option ID = 5764]

39) A major victory was won by the Akalis in the ‘Keys Affair’ in October, 1921 in which the
British government surrendered the keys of the Toshakhana of the Golden Temple to Baba
Kharak Singh, head of the SGPC and released all those arrested in the ‘Keys Affair’. Who
among the following immediately sent a telegram to the Baba : ‘First battle for India’s

freedom won. Congratulations’ ?

(1) Lala Lajpat Rai (2) Mahatma Gandhi

(3) Pt. Jawaharlal Nehru (4) Motilal Nehru

e, 1921 ¥ e} Amed’ § swpriorat A Sfta s i o fafew R 3 @t wiw % demevn H
=Tl fRmitn egr Teus aftfa (SGPC) % weiw 9t WswiEs # gie e st =l wee’ §
frorar e, o @t =i 1 T = G| Feitea 3 @ e s %1 o ar i Tew Feag sgm

o ;WG H ST % I g F ) WS w7

(1) Tl STead T (2) e e
() 1. TR 5 (4) oo 5%

[Question ID = 1442][Question Description = Q39_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Opticn ID = 5765]
i

[Option ID = 5766]
3 3

[Option ID = 5767]
4. 4

[Option ID = 5768]

40) Who among the following was an influential figure in the creation of nationalist art in India?
(1) Abanindranath Tagore (2) Ernest Binfield Havell

(3) Annada Bagchi (4) William Morris
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e ra
(1) s R 2) e forfes 2w
(3) 2T AV (4) faterm wiw

[Question ID = 1443][Question Description = Q40_IndianCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 576%])
Pl

[Option ID = 5770]
3.3

[Option ID = 5771]
4, 4

[Option ID = 5772]
41) Who of the following is/are the god(s) or goddess(es) of roads, herdsmen and straying cattle
in the Rigveda?
(A) Pushan
(B) Ashvins
(C) Maruts
(D} Aranyani
Choose the correct answer from the options given below :
(1) (A), (B} and (D) only
(2) (A) only
(3) (D) only
(4) (B) and (C) only

T % OTER FrIRaa § ¥ Fi GSH, TRETE] SR SR TR % a3 B/E 7

(A) 99

B v

(&) B 27 §

(D) FoaTH

A feu Tu fawedl # U wgt 3T = 9449 i

(1) == (A). (B) 3k (D)
IR ESREN

®  Faw (D)

(4  F= (B) AR (C)

[Question ID = 1444][Question Description = Q41_IndianCulture_SHAAN_20NOV_S1_Shift1]
154

[Option ID = 5773]
Lok

[Option ID = 5774]
3 3

[Option ID = 5775]
4. 4

[Option ID = 5776]

42) Which of the following are the ornaments mentioned in Rigveda?
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(A) Karnasobhana
(B) Khadi

(C) Kurira

(D) Rukma

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (A) and (C) only

(3) (A), (B) and (C) only

(4) (A),(B),(C), ()

FefcTiaa 5 o S g | A ST 7
&)  HEIE

B @i

© TR

D) &

e fou v ferewi § © W@ SR W = i
1) Fa (A) IR B)

(2)  FE (A) 3 (O)

3 %= (A). B) R (C)

4) (@A), [B) ©). D)

[Question ID = 1445][Question Description = Q42_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Opticn ID = 5777]
2, 2

[Option ID = 5778]
3.3

[Option ID = 5779]
4, 4

[Option ID = 5780]

43) Which of the following texts discusses the origin of state?
(A) Aitareya Brahmana
(B) Digha Nikaya
(C) Raipaseniya Sutta
(D) Mahabharata
Choose the correct answer from the options given below :
(1) (4), (B) and (D) only
(2) (A) and (B) only
(3) (C) and (D) only
(4) (A}, (B) and (C) only

frfafea 5 @ = o9 # o= i sy afva 27

(A) Ut wHEm
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(B) Ju F=m

(C) TEwEtE gw

(D)  HEMEG

= for 7o fwedl § ¥ wd I W 9= Hi

(1)  Fad (A), (B) 3R (D)
(2)  =ad (A) R (B)
(3) %aa (C) I (D)

4)  FF9 (A), (B) 3 (C)

[Question ID = 1446][Question Description = Q43_IndianCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5781]
2. 2

[Option ID = 5782]
3.3

[Option ID = 5783]
4, 4

[Option ID = 5784]

44y Which of the following belief systems subscribe (s} to the view that nature is atomic?
(A) Vedanta
(B) Vaisheshika
(C) Jainism
(D) Some schools of Buddhism
Choose the correct answer from the options given below :
(1) (B) only
(2) (A}, (B) and (C) only
(3) (B) and (C) only
(4) (B), (C) and (D) only

Frfafas 4 o /e smeen ugla/agfat = saen yofa = ey romrfas 2 7

(A) =
(B) 3aufiew
(C) SFud

(D) sitg wd ki T wEE

= 2w Tu fawreal 4 4 wEt SO = == i
(1) =9 (B)
(2)  FaE (A). (B) ¥R (C)

(3) = (B) R (O)
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(4)  =ae (B), (C) 3k (D)

[Question ID = 1447][Question Description = Q44_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5785]
2. 2

[Option ID = 5786]
3.3

[Option ID = 5787]
4, 4

[Option ID = 5788]

43) Which of the following have been brought under Yama, one of the 8 limbs of yoga in the
Yogasutra?

(A) Ahimsa (non-voilence)

(B) Brahmacharya (celibacy)

(C) Satya (Truth)

(D) Tapa (Penance)

Choose the correct answer from the options given below :
(1) {A), (B) and (D) only

(2) (A) and (B) only

(3) (C) and (D) only

(4) (A}, (B) and (C) only

AR H IR % 1S SO § ¥ TF A9 H A Fetaiaad ¥ § B w@n et

(A) g

(B) &

) w

(D) U]

2 i o famedt © © A8 SO 1 99 ST

(1)  Fad (A), (B) 3 (D)
(2)  FEd (A) 3R (B)
(3)  Faa (C) R (D)

@ a9 (A), (B) 3T (C)

[Question ID = 1448][Question Description = Q45_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Opticn ID = 5789]
2. 2

[Option ID = 5790]
3 3

[Option ID = 5791]
4. 4

[Option ID = 5792]

46) Which of the following sources indicates the early worship of both YVasudeva and
Samkarshana?

(A) Buddhist text Niddesa
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(B} Ghosundi Inscription of King Sarvatata
(C) Nanaghat cave inscription of Naganika
(D) Coins of Agathocles
Choose the correct answer from the options given below ;
(1) (A) and (B} only
(2) (B) and {C) only
(3) (B), (C) and (D) only
(4) (A),(B),(C),(D)

frafafiga 9 9 =9 9 99 T193 @ gHdw 21 % IR Yo Y 1R 38 e 27
(A) g 9 fRm

(B) T Ha™ 1 Higg Al

(C) AW = TEMEE TRy

(D)  swmiEeis % fi

4 fau 7 famedt § @ w81 SO 1 99 Fib
(1) 39 (A) 3 (B)

2 Fa= (B) 3 (C)

(3) === (B), (O) 3t (D)

@ (@A) B).©). D)

[Question ID = 1449][Question Description = Q46_IndianCulture_SHAAN_20NOV_S1_Shift1]
11

[Option ID = 5793]
2. 2

[Option ID = 5794]
et

[Option ID = 5795]
4. 4

[Option ID = 5796]

47) Who among the following are mentioned as sculptors in inscriptions?
(A) Dinna
(B) Gomitra
(C) Kunika
(D) Maka
Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (C) and (D) only
(3) (B),(C),(D) only
(4) (A),(B),(C), (D)

frefirfias % @ w7 wrerg) § o fredt % = Sfyfiea 27

@ f=

® ot
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(€ T

@)y =

Hi9 fou me faweat € O 3w = 99T Hifw .
1) A (A) 3R (B)

(2 %Fae (C) 3R (D)

(3) I« (B), (C) 3R (D)

@ @A) ®. ). O

[Question ID = 1450][Question Description = Q47_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5797]
2. 2

[Option ID = 5798]
.3

[Option ID = 5799]
4, 4

[Opticn ID = 5800]

48) Who from the following divine dancers (Apsara) are depicted in Bharhut sculpture?
(A) Alambusa
(B) Mishrakesi
() Sudarsana
(D) Subhadra
Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (A),(B),(C), (D)

= o @ fFm <o it Jomaet (svwn) i awga e § fitea e w2

(A) el

(B) Tl

©) g

(D) gua

= fou e et § ¥ 9P I S 9 AR

(1) g (A) 3R (B)
(2) a4 (B) 3R (C)
(3)  =aw (C) 3kt (D)

@ @, ®.©). D
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[Question ID = 1451][Question Description = Q48_IndianCulture_SHAAN_20NOV_S1_Shift1]
154

[Option ID = 5801]
Lok

[Option ID = 5802]
3 3

[Opticn ID = 5803]
4, 4

[Option ID = 5804]

49) In the segmentary state model, the intermediate zone of Chola polity comprised

(A) Tondaimandalam
(B) Pandimandalam
(C) Kongumandalam

() Gangavadi

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (A),(B} and (C) only

(3) (B), (C) and ([}) only

(4) (C) and (D) only

WEETS 59 Higdl ¥ =i U9 S99y & T5aadl &9 ° st o 27

(A) dETsem

(B) wigHsan

(C)  =HEem

(D) ARl

Al fou T fempedt W O TRl 3 W =9 Fily

(1) e (A) 3R (B)
(2)  FaA (A). (B) 3R (C)
(3) e (B). (C) 3 (D)

(4  wFE (C) (D)
[Question ID = 1452][Question Description = Q49_IndianCulture_SHAAN_20NOVY_S1_Shift1]
1. 1

[Opticn ID = 5805]
2. 2

[Option ID = 5806]
3.3

[Option ID = 5807]
4, 4

[Option ID = 5808]
50) Gupta coins exhibit variety not only of types but of metals as well, Who among the following
rulers issued coins of gold, silver, copper and lead?
(A) Samudragupta
(B) Chandragupta-Il
(€C) Kumaragupta-I|
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(D) Skandagupta
Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (A), (B) and (C) only

Taenret T 7 fad srr-meRr # wfewr g o ot Ffaear = ueem o 31 Pt 5 @ fe et @
H, =61, TR 2R 9 i % e 9o ?

(&)  HHEITH

® wgE-1II

€y FAE-1

(D) ThEH

9 fau o faereat | O BE IO W 99 S

() =t (A) 3R (B)
2 & (B) AR (O)
3) =« (C) 3 (D)
4 = (A), B) 3 (C)

[Question ID = 1453][Question Description = Q50_IndianCulture_SHAAN_20NOV_S$1_Shift1]
1.1

[Option ID = 5809]
2. 2

[Option ID = 5810]
3.3

[Option ID = 5811]
4. 4

[Option ID = 5812]

51) Which of the following books were written by Ramanujacharya?
(A) Vedantasara

(B) Vedarthasamgraha

(C) Vedantadipa

(D) Commentary on Brahmasutra

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A) and (D) only
(3) (A),(B),(C), (D)
(4) (C) and (D) only

e | Fetafga 3 @ 5 et Fit = i efi e

o

(4)  EIEER

(B) deriTE
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(O N
(D)  wEET W &
fr= o o fowedl © © w2 SR T 9ue Hih

(1)  =as (A) 3 (B)
(2)  wad (A) FR (D)

(3)  (A)LB)LC). (D)
(4) = (C) ¥R (D)

[Question ID = 1454][Question Description = Q51_IndianCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5813]
2. 2

[Option ID = 5814]
3 3

[Opticn ID = 5815]
4. 4

[Option ID = 5816]

52) The Mushika Vamsha

(A) was written by Atula

(B) belongs to the eleventh century AD

(C) is an account of a ruling dynasty of Kerala

(D) is a story from the Jatakas

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (A), (C) and (D) only

(3) (B) and (C) only

(4) (A), (B}, (C) and (D)

v

(A) = S BT AT g o

(B)  Tamgdl yrawdl 3. S Ffa 2

(C) T % UH IH T9 R 2

(D) T Sa® AT B

A2 fow o et © @ w61 SR A 9 S
(1) a4 (A), (B) ¥k (O)

(2) a4 Q). (C) 3N (D)

(8)  #aw (B) ¥ (C)

(4)  Fad (4), (B), (C) 3 (D)
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[Question ID = 1455][Question Description = Q52_IndianCulture_SHAAN_20NOV_S1_Shift1]
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[Option ID = 5817]
2. 2

[Option ID = 5818]
3 3

[Option ID = 5819]
4. 4

[Option ID = 5820]

53) The types of igqtas referred to by Mawardi were:

(A) Igta-i italaq

(B) Igta-i tamlik

(C) Iqta-i istighlal

(D} Iqta-i Ataraf

Choose the correct answer from the options given below :
(1) (A) and (B} only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D} only

e g Sgfaa s i AT 2

(A) ZThI—T Sdclieh
(B)  TwI-U a"eli®
(C)  wwI-T shearera

(D) TH-T IAAOE

=t faw e el A @ 9é ST A =E i
(1) a9 (A) 37t (B)
(2)  Fa (B) 3 (C)
(3)  =ee (C) 3k (D)

(4)  FaF (A) I (D)

[Question ID = 1456][Question Description = Q53_IndianCulture_SHAAN_20NOV_S1_Shift1]
R

[Option ID = 5821]
2. 2

[Option ID = 5822]
3. 3

[Option ID = 5823]
4. 4

[Option ID = 5824]

54) Which of the following statements are correct about the octagonal style tombs of Sultanate and Mughal periods?

(A) The so-called ‘Saiyyid’ tombs and ‘Lodi’ tombs are octagonal in style

(B) Isa Khan Niyazi’'s Mausoleum at Delhi shows the persistence of the octagonal variety of tomb well into the Suri period
(C) Its supreme development can be seen in Suri monuments at Sasaram in Bihar

(D) This octagonal style is also visible in Adham Khan’s tomb at Delhi
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Choose the most appropriate answer from the options given below :
(1) (A) and (B} only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A),(B),(C),(D)

g SR TS Hre vl v $ Fet Ot F owg § fefefas A e s e wm w37
(A) R Gae’ ot 3T Aid) meeR srgefiy dedt F s 2
B fF 9 ©m s an FEel & wet ° 98 W ga @ B gl # sl def gl we o

TR Tl |
(C) Torer < gmrm ¥ fta gff et o 2w =7m Iy s 3 2
D) Tz T T T fOm o @@ % T | ot TR ot 2

A fom o et ¥ @ TR SUEE I W T R
1) Faa (A) 3R (B)

(2) == (B) 3R (C)

(3  #=E| (C) IR (D)

@ @), (B). (C) i (D)

[Question ID = 1457][Question Description = Q54_IndianCulture_SHAAN_20NOV_S1_Shift1]
11

[Option ID = 5825]
2. 2

[Option ID = 5826]
3.3

[Option ID = 5827]
4, 4

[Option ID = 5828]

53) With regard to Kabir, which of the following statements are correct?
(A) Kabir propounded an absolute monotheism that countenanced no image worship and no ritual

(B) The evidence of their compositions show that Sant Ravidas and Sain, both belonging to the sixteenth century,
regarded Kabir as their precursor

(C) A similar position with regard to Kabir was adopted by Dadu, who had a considerable following in

Rajasthan
(D) In the sixteenth century, the Satnami sect which appeared in Uttar Pradesh also owed explicit allegiance to
Kabir

Choose the most appropriate answer from the options given below :
(1) (A),(C) and (D) only
{2) {A),(B) and (D) only
(3) {A),(B) and (C) only
{4) {A) and (D) only

FeR % TEg H g § 4 H9 o FH U 87

() TR A CHYEEE F A A e e R wEes @ g 9o 6 wEEE T e T

1]
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Treredl wdl % Ha egr 3 87 6 AT 3w o e £ R A i L e geadd aed o
g, Tk Toa § o=t wen | srEeft A, A el o e deie v o
TieTedl W41 ¥ I WS W I5d WAl geier =i off Tae T9 O =it & wid Fer o)

%= iU 7o frpedi § ¥ W9 STE ST P 9E I

(1)
(2)
(3)

(4)

Fad (A), (C) 7 (D)
w9 (A). (B) ¥R (D)
Fad (A), (B) & (O)

Fad (A) AR (D)

[Question ID = 1458][Question Description = Q55_IndianCulture_SHAAN_20NOV_S1_Shift1]

1

1

[Option ID = 5829]

2

[Option ID = 5830]

i

[Option ID = 5831]

4

[Option ID = 5832]

56) Which of the following statements are correct about the architectural styles of Bengal?

(A) Eklakhi mausoleum at Pandua is notable for a curve on each cornice of the square tomb-

Chamber
(B) It derived its feature from a local method of constructing huts with bamboo rafters
(C) Some similar buildings were erected at Gaur after the 15" century under the later Ilyas Shahi and Husain Shahi
rulers
{D) In llyas Shahi and Husain Shahi buildings decorations became specially lavish
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only
(2) (A}, (B) and (C) only
(3) (B),(C) and (D) only
(4) (A),(B),(C),(D)

A Rl T2 ] % GEy § frEfaiad 3 O B o wed a9 57

(A)  WEA T UCHCE TR ST TR H5 THE i ToAF Borct] H Twa (GEERR) * forn

2

B) IO Iz R ara i atgar 9 wodl sAE A v gi " e A

(C) 1570 vraredt % WG ITY ST AT ST gHA YTEl IR % SRH S H 39 e % FF I v

S U]

D) < o s gl amd e % qe A srer B = & e 2 )

Fr o e ferew § © e SUgT I W 94 i

(1) %9 (A) 2R (B)

2)  FAA (A). (B) 3 (C)

(3)  Had (B). (O) & (D)

@ (A B). (C) R (D)
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[Question ID = 1459][Question Description = Q56_IndianCulture_SHAAN_20NOV_S1_Shift1]

1.1

[Opticn ID = 5833]

2. 2

[Option ID = 5834)

i

[Option ID = 5835]

4. 4

[Option ID = 5836]

57) With regard to Bukka |, the ruler of Vijayanagar empire, which of the following statements are correct?

(A) Under his patronage, a number of scholars produced literary works on religion, philosophy and
law

(B) He restored harmony between the Vaishnavas and the Jains, and his pronouncement on this occasion almost
echoes Ashoka’s edict of toleration

(C) He was against of reviving agraharas
(D) Firishta writes that his country was well peopled, and the subjects were submissive to his authority
Choose the most appropriate answer from the options given below :
(1) {A),(B) and (D) only
(2) (B),(C) and (D) only
(3) {A), (C) and (D) only
(4) (€) and (D) only

o T % W gF-1 & geag ° FEieiga § 9 i 9 %9 uel 27

(A)

®)

©
D)

=
(D
@)
(3)

4

39k T 1 e fagrn A o, gula 3 fafy i st i wer

3eH dwiEal 3T SAT ot agura e R S 39 sE WA T Suehl sgamonet J wifzevrar
* AR A ST % Frereral H fasatt g & 2

g ITER SR B T TE T $ [9%g I

wityan foraan 3 1% 3@ <o o==t @i 2nEng o7 31 We S5l Ol % A R geet o

feu o famreal 5 © wH1 S F1 999 Hiw;
A (A). (B) 5 (D)
Fae (B), (C) 3t (D)
FaT (A). (C) 3 (D)

sheler (C) 317 (D)

[Question ID = 1460][Question Description = Q57_IndianCulture_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 5837]

2. 2

[Option ID = 5838)

3 3

[Option ID = 5839]

4. 4

[Option ID = 5840]

58) With regard to European painting’s influence on Indian painting, which of the following statements are correct?

(A) The court painters had become aware of European miniature painting by the last years of Akbar’s reign

(B) Jahangir’s artistic interests inspired his artists to draw upon European paintings for inspiration

(€) The sixteenth century ltalian style of painting particularly influenced Miskin
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(D) Jahangir did not like portraits

Choose the most appropriate answer from the options given below :
(1) (B),(C) and (D) only

(2} {A),(B) and (C) only

(3) (A),(C) and (D) only

(4) (C} and (D) only

et ferape W A Ht Feorren & wara % g # el @ @+ 9 w9 wd 27

i )

(&) TN FEFN SR F WEEEE % siag 991 oF J09 F1 g foEeen § miaw 7 99 9

Ll

(B) el wawas AR ¥ I FArEEl 1 U9 1 FHEwe i SEE 6 o e
(C) wieTEdl =l Fi g e Sl o Wfee e =9 9 yarim A
(D)  erit = sla-fem g65g == 9

= 5y 1o fespedt § @ wom 3ugE SOl @l = i
(1)  F=a B). (C) & (D)
)  Fa (A), (B) 3T (O)
(3 %A@ (A), (C) IR (D)

@)  Fad (C) 3 (D)

[Question ID = 1461][Question Description = Q58_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5841]
2. 2

[Option ID = 5842]
S

[Option ID = 5843]
4. 4

[Option ID = 5844)

59) Which among the following statements are true about Alfonso de Albuquerque

(A) It was Alfonso de Albuquerque who laid the real foundation of Portuguese power in India

(B} He captured the rich port of Goa from the Bijapur Sultanat

(C) With a view to securing permanent Portuguese population he encouraged his fellow countrymen to marry Indian wives
(D) He established a friendly relationship with the Muslims

Choose the most appropriate answer from the options given below :

(1) {A) and (B) only

(2) (B) and (C) only

(3) {(C) and (D) only

(4) (A),(B) and (C) only

AR § FCGHH % A1 H FA-HA U a0 /FUT Tal 2 7

et

(A) TR TSN T STCGF AT T WG T GG TIh 1 aRareen S )

(B) U iYL Hoadd § A1 B WYG SCUNE HEAT i1
(C) vF TPl ggmelt SEe WY R H A o ST A9 59 F A S IRaE S o e

F T TGl oA
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(D) et & qe sud il ey w@iiva R

Fimt fou e forreat 4 @ wed I S w0 =weA Fifaw
(1) a9 (A) 3R (B)
(2) a9 (B) 3 (O)
(3)  ad (C) IR (D)

(4)  FAA (A). (B) 3R (C)

[Question ID = 1462][Question Description = Q59_IndianCulture_SHAAN_20NOV_S1_Shift1]
11

[Opticn ID = 5845]
2. 2

[Option ID = 5846]
e

[Option ID = 5847]
4. 4

[Option ID = 5848]

60) Which among the following colleges were established in India by the British?
(A) Fort William College

(B) Sanskrit College

(C) Wellingdon College

(D) East India College

Choose the correct answer from the options given below :

(1) {A) and (B) only

(2) (A),(B) and (C) only

(3) {A) and (D} only

(4) (A),(B),(C).(D)

ST EFAG GRT WA W Freiteea § © e Aeticrmerl =6 T 61 g ofi?

&) w2 e Few

B) TEFd B
(C) aferes S
D) = I e

4 fzu T et 1§ g d T W i
(1) Faa A) IR (B)

2 Fad (A). (B) #r (C)

(3) A (4) 3R (D)

@ @A), B). (C) R (D)

[Question ID = 1463][Question Description = Q60_IndianCulture_SHAAN_20NOV_S1_Shift1]
Te 5
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[Option ID = 5849]
2.2

[Option ID = 5850]
3 3

[Opticn ID = 5851]
4. 4

[Option ID = 5852]

61) Which of the following statements are true about the spread of Western education in India?
(A) James Thomason established the Civil Engineering College at Roorkee in 1847
(B) Iswar Chandra Vidyasagar was the Head Pandit at the Fort William College, Calcutta
(C) The Young Bengals of Hindoo College were inspired by Raja Rammohan Roy
(D) Thomas Belington Macaulay showed interest in the translation of Sanskrit and Arabic literature
(E) Ecole de Medicine de Pondicherry was one of the first institutes of tropical medicine in Asia
Choose the correct answer from the options given below :
(1) {A),(C) and (E) only
(2) {A),(B) and (E) only
(3) (A), (C) and (D) only
(4) (C),(D} and (E) only
ura § gfvedt S i e % yon % ey § Fefra © 9 F0 9 weE w20

(A) A 9mEA | T 1847 o wedht A fafae stafafer Few R v

®) = fammrr W fafamm Fer, e & gae afed A

(©) T FEm % W e Ten WEiE T 9 Sa A

(D) I S T A e R Rl wifee % san 9 afsty g

E) T g utstE < wiisst viirn % 9m vsen SwmEsad sty TraE ¥ 9 s @)

Hi= fou o et A @ w1 = = A Fiw
()  #ad Q). (C) #ir (E)
(2) Q). (B) 3R (B)
(3) A (A), (O) 3R (D)

(4)  Faa (C). (D) 3R (E)

[Question ID = 1464][Question Description = Q61_IndianCulture_SHAAN_20NOVY_S1_Shift1]
1. 1

[Option ID = 5853]
.2

[Option ID = 5854]
e

[Option ID = 5855]
4, 4

[Opticn ID = 5856]

62) Which of the following statements are true about the Brahmo Samaj movement?

(A) Rammohan Roy criticized the idea of monotheism in his Persian tract Tuhfat
al-Muwabhiddin

(B) Roy based his vision of interpretation of Hinduism on the Vedas, Upanishads and the Vedanta Sutra
(C) Members of the Hindu Dharma 5abha, that opposed Roy’s visions, were closely associated with the English
Government

(D) The intercaste marriage (which was also a widow remarriage) sponsored by Keshab Chandra sen in 1864
shocked the orthodox sect of the Brahmos
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(E) The Adi Brahmo 5amaj under the leadership of Debendranath Tagore combined activism with religious values
and initiated social reforms

Choose the most appropriate answer from the options given below :
(1) (B),(D) and (E) only

(2) (B) and (D) only

(3) (B) and (E) only

(4) (B),(C) and (D) only

FE THTS e AN S HERd § ° i Y e W 27

(&)
(B)
(©)
(D)

(E)

TSR T 7 21T FIet FEfa ged e -JamnReE H Thyatas & f[er i steraa i)

T F et 1 saven & Geg ¥ 10 ¥ 1 SATHR 951, SUMHNEl TR S5 AT B A

W 3 W T wEr B o e % wee el g O e W H weiia |

T, 1864 T FEES O R UEIEE SaeidE faane (1 Fea widas o o) o i W
FETu THEE wed 7 T

e 1 ST % Aged W G wE WA A el gedl i o fhe T g gam A agfaa
TaTetiemn i

T fou e faereni A © wed IUgtT ST R i

(1)
(2)
(3)
(4)

a9 (B), (D) ¥R (E)
a9 (B) 31 (D)
a9 (B) 3R (E)
Fa (B). (C) ¥ (D)

[Question ID = 1465][Question Description = Q62_IndianCulture_SHAAN_20NOV_S1_Shift1]

1

1

[Option ID = 5857]

2

[Option ID = 5858]

ik

[Opticn ID = 5859]

4

[Option ID = 5860]

63) Which of the following Urdu poets of Delhi left for Lucknow in search of a new patron especially after the sack of Delhi
by Nadir Shah?

(A) Mir Dard

(B) Mir Sauda

(C) Mir Tagi Mir

(D) Mirza Ghalib

Choose the correct answer from the options given below :

(1) {(A) and (B) only

(2) (A),(B) and (C) only

(3) (B),(C) and (D) only

(4) (A),(B),(C) and (D) only

Feitra 4 O gl % #F ¥ 3¢ w6 faew =9 g Wi e g g § seme e F aw av e

T T @E@9F o 170 FT 21 707

(&)

®)

i 70
i e
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(C) Hr @fh dR
D) A= mica

Hi=t feu o famweal 9 9 wE 39 w1 = hifag;
(1)  %aa () 3 B)

(2)  Fa (A). (B) 3 (C)

(3) @ (B). (O) 3 (D)

4 (A, B),(C) 3R (D)

[Question ID = 1466][Question Description = Q63_IndianCulture_SHAAN_20NOV_S1_Shift1]
11

[Opticn ID = 5861]
2. 2

[Option ID = 5862]
e

[Option ID = 5863]
4. 4

[Option ID = 5864)

64) Which of the following statements are true about Ramakrishna Paramahamsa?
(A) His preachings inspired the peasants to rebel against the zamindars
(B) He instructed his disciples to keep away from non-vegetarian food
(€) He stated that Kali, Christ and Allah, all are same

(D) He believed in formless god

(E) Tota Puri, a devotee of Shankaracharya, initiated him into sannyas.
Choose the most appropriate answer from the options given below :
(1) {C) and (E) only

(2) (A),(B) and (D) only

(3) (B}, (C} and (E) only

(4) (A), (B) and (C) only

THFW 9HEE % aR ° Fefafaa § 9 B9 § w99 9a 87

(A) I T % werawa Feaml w1 el % g st sam # tren fied)
(B)  w=d o faeal i wEEr o wes s w6 seew fom

(©) T wEW Al % e, o0 aHiE o ot ol o d E)

D) ¥ A= o 5 TR G 2

(E) R h U UeE Ol T A S G oy g g

i fou o Tt § B He SUgt ULl T I
(1) %39 (C) ¥R (E)

@) FFa (A). (B) ¥R (D)

(3)  Fad (B). (C) 3iv (E)

4 FaA (A). (B) ¥R (C)
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[Question ID = 1467][Question Description = Q64_IndianCulture_SHAAN_20NOV_S1_Shift1]

1. 1

[Option ID = 5865]

B2

[Opticn ID = 5866]

ai

[Option ID = 5867]

4, 4

[Option ID = 5868]

65) Which of the following statement are NOT true about Sayyid Ahmad Khan?

(A) In his political tract Asbab-i-Baghvati-i-Hind (Causes of the Indian Revolt), he laid

the blame for the uprising of 1857 on missionary activities

(B) His Loval Muhammadans of India is a tract that contained accounts of Muslims who

remained allied with the Raj

(C) History of the Revolt in Bijnor was written on the basis of his conversation with

Maulvi Liaguat Ali Khan

(D) In his Islamic Modernism he argued that if a naturalistic and rational explanation of

Islam could be found that did not directly clash with the Quran, it was to be used

(E) He suggested that Muslims should learn European literature and philosophy, but

should keep away from Western science and technology

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

(A),{(C) and (E) only
(A} and (D) only
(C), (D) and (E) only
(C) and (E) only

TG 37E9% @ % OR § HO0rRd § o F 8 Y9 Ta 761 8

(&)

(B)

(©)
D)

(E)

AW Titaw Fay swemE-u sEd-v B (aidE fGEE % ) d s= 1857 % fgiE %
T fremdy nfatatemt =t soerl samam

3Th gl Uoa oiTe Aesg 3 shear, ofivs o iRl Fed 9 9 gl ) e 2 S
e o= ¥ wg Bl

forsHR o Tagig = shagm’ Al femmra sl @l = i % adiely % 3R 9t foran

AT ‘TEATE YRl § 3T O o1 76 4TS 3eem il YA SR qiE ST 39 Wi B
Rl B Toed W =6t werea: Tt 8 2 ot e v e

ST g9 o1 {5 gaemHl ® i Wil 3 g3e # wE wm we wfwe, g s ufveed <

-

F TR TR Tt O eSS = eT)

+r i o fomeT ¥ © Wl SUE® ST R SO :

(1)
(2)
(3)
(4)

Fa (A), (O) 3R (B)
%ad (A) 3 (D)
Fas (C), (D) 3N (E)
Faa (C) 3R (E)

[Question ID = 1468][Question Description = Q65_IndianCulture_SHAAN_20NOV_S1_Shift1]

1. 1

[Option ID = 5869]

Lol

[Opticn ID = 5870]

3. 3

[Option ID = 5871]

4, 4

[Option ID = 5872]
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66) Match List | with List Il
List | List Il
Inscriptions Scripts

{A) Taxila Fragmentary Inscription of

Aok ()] Greek

(B} Besnagar Garuda Pillar

1) Kharosthi
inscription of Heliodorus W

(C) Sinkot Steatite Casket inscription
of the time of Menander

(Il) Brahmi
(D) Rabatak inscription of Kanishka | (I¥) Aramaic

Choose the correct answer from the options given below :

(1) (A)-(I¥), (B)-(Ill), (C)-(I), (D)-(1)

(2)  (A)-(), (B)-(IN), (C)-(11}, (D)-(IV)

(3)  (A)-(), (B)-(I1}, (C)-(INI}, (D)-(IV)

(4) (A, (B)-(1), (C)-(IV), (D)-(1)
gft I % wy gt 11 =1 e ifse

AT Tll-11
afed fafu
(A) ITuivE = agiyen wfved wifiea (D =
(B) zfvisra = @R THs W Ih @us
(C) Trvgt & o o fBEske de@d (1) sEh
afereherm wfireig
(D) HESF UYH F1 @WEF Afhew (IV) wifirs

Hi=t fom e fompeat & @) 3w W == fifsr

(1) @)-aV). B)-d), (G)-(1D), M)-d)

2  @A)-O, B)-AID, (C)-dI). (D)-AV)

3) A0, (B)-AI), (C)-(I1I), (D)-AV)

4)  (A)-D, B)-AD. (C)-AV). (IH-d)
[Question ID = 1469][Question Description = Q66_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5873]
Z. 2

[Opticn ID = 5874]
3.3

[Option ID = 5875]
4, 4

[Option ID = 5876]

67) Match List | with List Il

List | List Il
Indian lunar months Corresponding range of Modern solar months
{A) Bhadrapada or Praushthapada {n November-December
{(B) Ashvin or Ashvayuja (Il December-January
{C) Margashirsha or Agrahayana {lll) September-October
{D} Pausha or Taisha {(IV) August-September

Choose the correct answer from the options given below :
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(M
(2)
(3)
(4)

(A)-(l1), (B)-(1), (C)-(IV}, (D)-(N)
(A)-(IV), (B)-(IN), (C)-(I}, (D)-(N1)
(A)Y-(I1), (B)-(l), (C)-(IV), (D)-(I)
(A)-(l1}, (B)-(V), (C)-(I}, (D)-(NT)

At 1 % @ gt 11 = e Hifeg

= fau T famedi § @ Wl S99 it

(&)
(B)
(©)
D)

(D
(2)
3)
4

[Question ID = 1470][Question Description = Q67_IndianCulture_SHAAN_20NOV_S1_Shift1]

1.1

-1

A =g A
WIZIE AT BT
AT 9T ATTGH
AR STYET STIETE
RIEREOE ik

(A)-dID. (B)-D). (O)-AV). O)-1I)
(A)-IV), (B)-UI). (O)-(I). M)-(ID)
(A4)-aD), (B)-{(1ID), (C)-@V), (D)-()
(A)-(IL), (B)-AV), (O)-(). (D)-(II)

[Option ID = 5877]

2. 2

[Option ID = 5878]

3. 3

[Option ID = 5879]

4. 4

[Option ID = 5880]

68) Match List | with List Il

List |

Jain councils

(A) Pataliputra Council

(B) Mathura Council

(C) Valabhi, I*t Council

(D} Valabhi, 1I"d Council

w=h-1I
arrEgfes G w6 A
@O FE-fEs
(I REsr-s7al
(IIT) Toavat-3TagsR
(IV) wrreg- s

List Il

Their presidents
(1) Arya Skandila
(I1}y Devardhigani Kshamashraman
(II1}y Nagarjunasuri

(I¥) Sthulabhadra

Choose the correct answer from the options given below :

(1
(2)
(3)
(4)

(A)-(I), (B)-(I1}, (C)-(lI1}, (B)-(IV)
(A)-(1ll), (B)-(1V), (C)-(I}, (D)-(1)
(A)-(IV), (B)-(1}, (C)-(lI1}, (D)-(I)
(A)-(I¥), (B)-(IlN), (C)-(1}, (D)-(I)

gt I % wy g 11 = frem fifse

g1

SH-T-T-11

(A) URFATT FTEAT

o-11
ITH e
() 74 Thiee
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(B) WU FEA (IT) <afEmior amsmo
(C) agfl, uem ar= (I1T) gl

(D) =g+, fadr ar=n (IV) T9eeTg

I o T faedl § © w9 SO W 999 it

D A-O, B®-AD. (C)-ALI), (D)-AV)
2y A)-AID, (B)-aAV). (O)-(D), (D)-(IL)
3)  @)-@V), (B)-(D, (C)-A1D), (D)-(ID)

@)  @)-av), (B)-alh. (C)-D), (D)-aD)
[Question ID = 1471][Question Description = Q68_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5881]
2, 2

[Opticn ID = 5882]
3.3

[Option ID = 5883]
4, 4

[Option ID = 5884]

69) Match List | with List I

List | List Nl

(Types of Drama) {Examples)

{A) Bhana {I)  Abhijnana-Sakuntalam
{B) MNataka (Il) Latakamelaka

{C) Prahasana (Il Mrichchhakatika

{D} Prakarana (I¥) Padataditaka

Choose the correct answer from the options given below :
(1) (A)=(D), (B)-(l1}, (C)-(lNI}, (D)-(I¥)
(2)  (A)-(I1), (B)=(1}, (C)-(1V), (D)-(IN)
(3)  (A}-(llI}, (B)-(N), (C)-(1}, (D)-(IV)
(4)  (A)-(I¥), (B)-(I}, (C)-(11), (D)-(INN)

gt I % @y gl 11 = frem i

gt 1 7 11
TOF ~THR I
(A) (D I wgae
(B) =ew 1) weFE
(C) W= (IIT) g=a=FiH
(D) T (IV) wieansa®
Hra fou o fomreat ® @ W@ SR W =T i

1L A-O. B-AD. (C)-A1D). (D)-AV)
@) (A)-dD. B)-(B. (C)-AV), (D)-A1L)
3 A-IID, ®)-aAD. (C)-{). (D)-AV)
@  A-av), B)-O, (C)-a1), (D)-dIL)
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[Question ID = 1472][Question Description = Q69_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5885]
2. 2

[Opticn ID = 5886]
Fiid

[Option ID = 5887]
4, 4

[Option ID = 5888]

70) Match List | with List Il

List | List Il
Muhammad Tughlag’s Hindu Nobles Post Held
{(A) Ratan (1) Diwan-1 Wizarat
{B) Bhiran (11} Governor of Siwistan
{C) Kihan Bazari (I} Governor of Gulbarga
(D)} Pira Mali (IV) Igtadar of Awadh
Codes:

(1) (A1), (B)-(IIN), (C)-(IV), (D)-(1)
(2)  (A)-(IV), (B)-(IN), (C)-(IN), (D)-(1)
(3)  (A)-(ll), (B)-0V), (C)-(I}, (D)-(N1)
(4) (A1), (B)-(I}, (C)-(I¥), (D)-(II)

g I o o g=t 11 = firem shifsig

THi-1 111

TERTE TS % fag SR T 97
(A) T @ <EE-T fesr
(B) = AD) fafaam = e
(C) Tore s (I1I) T o TR
(D) R A (AV) 7Y = FHAN
Al fau o forked! 4 O @t Iow W == B

1L @-dD. B)-1ID), (C)-AV), (D)-(D
@) (A)-AV), (B)-dIL), (O)-D), (D)-(D)
3  (Q-dID. B)-AV). (C)-(1). (D)-AD
@  @-aDh. B)-(D). (C)-1V), (D)-(1D

[Question ID = 1473][Question Description = Q70_IndianCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 588%9)
2. 2

[Option ID = 5890]
3.3

[Option ID = 5891]
4, 4

[Option ID = 5892]

71)  Match List I with List IT

List I List IT

prepp
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Bhakthi Saint Spiritual Guru
(A) Sukhananda (D Krishnadasa Paihara
(B) Kilha (I) Agradasa
(C) Nabha (IIT) Kabir
(D) Dharmadasa {IV) Ramananda

Choose the correct answer from the options given below :

1 A-an, B)-M, (O)-aID), D)-aAV)
@  @A-av). (B)-O, (C)-D), D)-D
3 AL, (B)-AV), (O-AD. D)D)
@  @-av). B-0, (O)-dD, M)-dI)

Fdt 1 & @ gl 1T =0 faem ifor

-1 gei-11

wfw g4 FreATeieh %
(&) Fug D P dgra
B foeg ID) T
(C) =3 (IIT) =R
(D) =™ AV) T
it feu v foeheat & ° @ s W == Hifaw

@O A-aD, B&-0). (CO)-d1). (D)-IV)
@)  A)-AV). (B)-(L). (C)-1I), (D)-(D
&) (A-dID. B)-AV). (C)-dD, (D)-(D
@ @)-aV), B)-@, (C)-a1), (D)-IIh

[Question ID = 1474][Question Description = Q71_IndianCulture_SHAAN_20NOV_S1_Shift1]
11

[Option ID = 5893]
2. 2

[Option ID = 58%4)
e

[Option ID = 5895]
4, 4

[Option ID = 5896]

72) Match List | with List Il

List | List Il
Monuments Situated at
(A) Sher Mandal () Vrindaban
(B) Govind-dev temple (Il) Lahore
(C) Jahangiri Mandir (Ill)y Delhi
(D} Shalimar Bagh (V) Orchha

Choose the correct answer from the options given below :

(1) (A, (B)-(1), (C)}-(IV), (D)-(11)
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- (2)
(3)
(4)

(A)-(I1), (B)-(IV), (C)-(ll1), (D)-(1)
(A)-(l1}, (B)-(IV), (C)-(11), (D)-(1)
(A)-(IV), (B)-(I1), (C)-(1), (D)-(INI)

g=f 1 = wy gt 11 o firem ifom

(A)

(B)

(C

)

(D)

= i T faedl § 9@ @91 3w w1 99 it

(1)
2
(3)
(4)

[Question ID = 1475][Question Description = Q72_IndianCulture_SHAAN_20NOV_S1_Shift1]

1.1

g1
T
IR HEA
St At
AR &1

(A4)-dID, (B)-(D). (O)-AV). DO)-II)
(A)-aD), (B)-AV), (C)-(1I). (D)-)
(A)-(II), (B)-IV). (O)-(1D. ()-d)
(A)-AV). (B)-AD), (C)-(D. (D)-(1I)

[Option ID = 5897]

2. 2

[Option ID = 5898)

30

[Option ID = 5899]

4, 4

[Opticn ID = 5900]

73) Match List | with List Il

List |

Writer

(A)
(B)
()
(D)

Ishwar Chandra Vidyasagar
Bankim Chandra Chatterjee
Michael Madhusudan Dutta

Veeresalingam

geh-11

T
@ Fa
ID) <R
I g
IV) st

List Il
Book
(1) Barnaparichay
(I}  Anand Math
(1} Megnadbadh Kavya

(IV) Prahasanas

Choose the correct answer from the options given below :
(A)-(1), (B)-(II}, (C)-(IN1}, (D)-(IV)
(A)-(1lT}, (B)-(N), (C)-(1}, (B)-(IV)
(A)-(I), (B)-(1}, (C)-(lI1), (D)-(1V)
(A)-(1lT}, (B)-(N), (C)-(IV), (D)-(1)
g I & ma g I faom #ifsm

(1)
(2)
(3)
(4)

(4)

(B)

-1

-

g

S7eR ==, Taengrr
SRH =g Al
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(C) T AYgE o () HEATEsY e
(D) imierm IV) weus
4= feu v fame 0§ w2 3T 1 == hifaw

1 @A)-O. B)-aD. (O)IID), (D)-(IV)
2y  A)-dID, B)-AD. (O)-@), (D)-(IV)
3y  A-AD, B)-(). (O)-dII), (D)-(IV)
(4)  (A)-dI). B)-ID. (O)-AV). M)-(D)
[Question ID = 1476][Question Description = Q73_IndianCulture_SHAAN_20NOV_S1_Shift1]

1. 1

[Option ID = 5301]
2. 2

[Option ID = 5902]
3.3

[Option ID = 5303]
4, 4

[Option ID = 5904]

74) Match List | with List Il

List | List Il
Internationally recognized personalities Field of Excellence
(A) KS Krishnan ()  Physics
{B) SS Bhatnagar () Chemistry
(C) TS Venkataraman (Illy Agricultural Science
(D} Birbal Sahni (Iv) Palaeobotany

Choose the correct answer from the options given below :
(1) (A)-(D), (B)=(l1}, (C)-(1V), (D)-(IN)
(2)  (A)-(IV), (B)-(II), (C)-(I1), (D)=(1)
(3)  (A)-(), (B)-(I1}, (C)-(lNI}, (D)-(I¥)
(4)  (A)-(lI}, (B)-(IV), (C)-(1}, (D)-(N)

g=ft I = g g 11 = e i

g1 11
FUEE T R AT S SeFeeAl- 4
(A) . @ FWA IO feh
(B) TH. TH. WEAIR 1) WET e
(C) #. wm. FFewEw (II) =@ =
(D) et wrEEh (IV) aRe IR

i o el § @ "9 SO S 99 it

(1)  @-D. B-AD. (C)-aV). O)-1ID)
2)  (A)-AV). (B)-(II). (C)-aAL), (D)-(I)
3 (A-D. B)-AD. (C)-(IID). (D)-IV)
@  A-dID. B)-aV). (C)-D. O)-ID
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[Question ID = 1477][Question Description = Q74_IndianCulture_SHAAN_20NOV_S1_Shift1]

14

[Option ID = 5905]

Lok

[Option ID = 5506]

i

[Option ID = 5907]

4. 4

[Option ID = 5308]

75) Match List | with List Il

List |

(A)
(B)
(€)
(D)

Urdu Akhbar
Sambad Prabhakar
Mirat Ul-Akhbar

Samachar Darpan

List Il

()] 1818, Serampore

() 1822, Calcutta

() 1840, Calcutta

(IV) 1836, Delhi

Choose the correct answer from the options given below :
(A)-(IV), (B)-(I), (C)-(11), (D)-(1)
(A)-(), (B)-(IV}), (C)-(11), (D)-(IN)
(A)-(1l1y, (B)-(1), (C)-(1}, (D)-(IV)
(A)-(1), (B)-(lN), (C)-(IV}, (D)-(l1)

A I % w g 0 = fiem Fifse

(1
(2)
(3)
(4)

-1

(A) T3 oTEER

(B) e TR

(C) Ua 39— STEER

(D) FER giw
Hr fan e ferpedt | 9 wdt s W == Hifew
1 (A)-aV), (B)-(I1), (C)-aDn, (D)-(D
@ -0 B)-av), ©)-aD. (D)-Im
3y  (A)-a). B)-dD. (C)-D. (D)-AV)
4)  A-O. B)-1m. (CO)-av), (D)-aD)

[Question ID = 1478][Question Description = Q75_IndianCulture_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 5909]

2. 2

[Option ID = 5%10]

S

[Option ID = 5911]

4. 4

[Option ID = 5%12]

388 °

[al

1818, TG

1822, ershl

1840 =HeT=hdl

18

76) Arrange the following acts of Asoka in chronological order

(A) Gift of two caves to Ajivikas

(B) Pilgrimage to Lumbini

(C) Pilgrimage to Bodhgaya

(D) Enlargement of the stupa of Konagamana Buddha

-

3

.

6, gt
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Your Personal Exams Guide



www.prepp.in

Choose the correct answer from the options given below :
(1) (€), (A), (D), (B)
(2) (B}, (C), (A), (D)
(3) (A), (B}, (C), (D)
(4) (D), (A), (B), (C)

(A)  Fasfitaset =1 gf el w6 gE
B) gt it it e
(C)  wvemmn Y e @

D)  FHH g5 TE F AlvEg

I3 fou Tu fSped A § W@ 3T 1 T i

1 (0. A). D). 3B
2y  (B).(C). (4). D)
(3) Q). B). (). D)
@ (D). & 3B.©

[Question ID = 1479][Question Description = Q76_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5913]
2. 2

[Option ID = 5%14]
S

[Option ID = 5915]
4. 4

[Option ID = 5%16]

77) Arrange in correct chronological order the following scholars who went to Tibet for propagation of Buddhism:
(A) Kamalasila

(B) Padmasambhava

(€) Santarakshita

(D) Atisa Dipankara

Choose the correct answer from the options given below :

(1) (C), (B), (A), (D)

(2) (A), (B}, (C), (D)

(3) (C), (B), (D), (A)

(4) (B), (A}, (C), (D)

sz gd = = % g feaa S are Faeifea gl = ot FemEe J crafesm wi

(A)  FHAENS

(B) TEEHd
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lkuj SRR
(D)  stha et
F= fan o fmedt 4 © OF S F 99 ST

1 (O, (B). A). D)
2 &), B), (O). D)
3 (. @B). D). &

@ B O D)

[Question ID = 1480][Question Description = Q77 _IndianCulture_SHAAN_20NOV_S1_Shift1]
j it

[Option ID = 5917]
7.2

[Option ID = 5918]
3.3

[Option ID = 5%19]
4, 4

[Option ID = 5920]

78) Arrange the following foreign observers of India in chronological order
(A) Ibn Haugal

(B} Ibn Battuta

(C) Al-ldrisi

(D} Alberuni

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (B), (D), (C)

(3) (A), (D}, (C), (B)

(4) (C), (D), (A), (B)

una = Featafigs fedh Seel =i FasaTER srafen =

&) 7 g
(B) &7 wqa
(C) w=-gEiH!
(D)  SForEE

Ir9 o v foredl § ¥ 98 IO S 999 Fie

1) D). A, ©). B
(2 @A) B, D). O
@ Q). D), ©). B
@ (©).D).A). B

| [Question ID = 1481][Question Description = Q78_IndianCulture_SHAAN_20NOV_51_5Shift1]
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| 1.1

[Option ID = 5921]
1)

[Option ID = 5922]
3.3

[Option ID = 5923]
4. 4

[Option ID = 5924]

79) Arrange the following writers known for their ‘ornate prose’ in chronological order’:
(A) Banabhatta

(B) Dhanapala

(C) Soddhala

(D) Subandhu

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D)

(2) (A), (D}, (B), (C)

(3) (D), (A}, (C), (B)

(4) (D), (A}, (B), (C)

‘sreipd T AT o Toig uftg freferfias sl w) e § smafer fif)

() g
(B) AT
(© Agaw
D) @Y

2 fow o forrewt § @ @D 3w w0 9 Hiw

(1) @A) ®. (). D)
2 (A). (D). B O
@) (D). &), ). B
) D). @A), B). )

[Question ID = 1482][Question Description = Q79_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5925]
2. 2

[Option ID = 5926]
3.3

[Opticn ID = 5927]
4. 4

[Option ID = 5928]

80) Chronologically arrange the women sufi saints of the medieval period :
(A) Rabia

(B) Bibi Fatima Sam

(C) Bibi Jamal Khatun

(D) Bibi Sara
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Choose the correct answer from the options given below :
(1) (D), (C), (B), (A}
(2) (B), (A), (D), (C)
(3) (A), (D}, (B), (C)
(4) (C), (D), (A), (B)

negFrE i Feafafaa afeen gft @491 i FEEEEHER AT

(A)  TfeET
(By sl wriam O
(C) =it sme @A

(D) e @

f fau o fmedl °§ ® TE ST F 99 ST

1 @D (©).B), &)
@2y B), Q. D). O
3 @) D). B) )
@ (©). D) A, B

[Question ID = 1483][Question Description = Q80_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5929]
3.7

[Option ID = 5%30]
3.3

[Option ID = 5931]
4. 4

[Option ID = 5932]

81) Chronologically arrange the following market control regulations of Alauddin Khalji as per Regulations order:
(A) Appointment of grain market

(B) Fixation of prices of all variety of grain

(C) All grain transport merchants of the empire were made subject of the controller of the grain market

(D) Collection of grain in the royal (Sultani) stores

Choose the correct answer from the options given below :

(1) (€), (D), (B), (A)

(2) (B), (A}, (C), (D)

(3) (B), (A}, (D), (C)

(4) (D), (C), (A), (B)

HAATSEA ettt % TAfettas srom ey FHami =t 2t & Feri % SaR W HeisweEE 5o

(A) I IR * fau e fi FafE
(B) @Ht YyFW % IE B god FHawm

(C)  =mHTsE % wdfi sFrs uftaes sl # 9=S aeR % s 5 sl
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(D) ToFEHE YSK (Fearl) T oF 1 80E

= feu mu faear 4 9 9El 3¢ @ =994 i
(1) (C). (D), (B). (&)
(2) (B). (A). (C). (I
3 (B).A).D).©
(4 (D). (C). (A). (B)

[Question ID = 1484][Question Description = Q81_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5933]
2. 2

[Option ID = 5934]
3.3

[Option ID = 5935]
4. 4

[Option ID = 5936]

82) Arrange the following steps undertaken by emperor Akbar in chronological order:
(A) Founding of Ain-i Iradat-i Ghazinan or Din-i llahi

(B) Abolition of Jiziya

(C) Abolition of pilgrimage tax

(D) Proclamation of Mahzar

Choose the correct answer from the options given below :

(1) (€), (D), (B), (A)

(2) (B), (A}, (C), (D)

(3) (), (C), (B), (A)

(4) (C), (B), (A), (D)

TSR TR gRT 331¢ T F=farfiaa adl i FresramgEr gum;

(A)  IET-T A-T TAEH 7 SH-T 3eATa] hl T
(B)  ferm i Ty

(C)  fddamn == &Y oy

(D)  WESR < SgEIm

#r= fou o fmeat § § w9 S T =m Hifse

(1 (©). D). B). &)
2 B). &) ). D)
3 (D)), B).A)
4) (€. B A). D)

[Question ID = 1485][Question Description = Q82_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5937]
2. 2
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[Option ID = 5938]
3.3

[Opticn ID = 5939]
4. 4

[Option ID = 5940]

83) Arrange these temple entry Satyagrahas in a chronological sequence
(A} Kalaram Temple Satyagraha

(B) Munshiganj Kali Temple Satyagraha

(C) Vaikom Satyagraha

(D} Guruvayyur Temple Satyagraha

Choose the correct answer from the options given below ;

(1) (A), (B), (C) and (D)

(2) (A), (C), (B) and (D)

(3) (C), (D), (B) and (A)

(4) (C), (B), (A) and (D)

T § J991 H Tl FEAfiiEd Hoanlel i Hernugan safedd it
(A)  PINH HiE FE

(B) T el A T

(C) FEHW wAWE

(D) THEATER A TR

= fon o fwew # ¥ ¥ IR W == St
B A). B, () D)
2) (A (0. (B) R (D)
(3 (). (D). (B) TR (A)

@  (C). (B). (A) ¥R (D)
[Question ID = 1486][Question Description = Q83_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5941]
3.2

[Option ID = 5942]
Fui 3

[Option ID = 5943]
4, 4

[Option ID = 5944]

84) Arrange the following events in the life of Rabindranath Tagore chronologically

(A) His publication of novel Gora

(B) On his appeal, rakhi bandhan was observed the day partition of Bengal came into effect
(C) His publication of Ghare Baire

(D) He established Swadeshi Bhandar to promote the production and sale of Indian handicrafts

Choose the correct answer from the options given below :
(1) (C), (B), (A) and (D)
(2) (D), (B), (A} and (C)
(3) (A), (B), (D} and (C)
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(4) (B), (C), (D) and (A)

g 2R Hi Sfiem § "t et geaedl T PHEER SAaedd i

(A) I ITE T W TR

(B) 3% 3T W 9 Fl 99 0] BH R {57 1@€ET T g e e

(C) 9% g aa W FE O

(D)  WIRE el % Ieured 3 O 1 seran 25 & 70 399 g SRl WeR R T e S

i fog T et A O wEl I = fit
1) (©).(®B). @A) ¥ (D)
2 (D). ®B), A)HFR(O
(3 @), ®. O H (O

@  (B).(0). D) I (A)
[Question ID = 1487][Question Description = Q84_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5345]
2. 2

[Option ID = 5946]
3.3

[Option ID = 5%47]
4, 4

[Option ID = 5948]

85) Professor DK Karve took up the cause of widow re-marriage in western India. Chronologically arrange the events in his

life

(A) He refused to marry a teenager on becoming a widower and married a Brahmin widow
(B) He became a professor at Fergussan College

(C) He opened a Widow Home in Poona

(D) He set up an Indian Women’s University at Bombay

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D)
(2) (B), (A), (D}, (C)
(3) (B), (A), (C), (D)
(4) (A), (C), (D), (B)

THER #, . wE 7 v YRe § By wEae w7 ands B ST SitET % AR i S aR
oHeteem Hi ;

(A) TIR ZF | = =9l S @ faaE FE 8 9 A S o v awm Gaen ¥ e
®) o wE Fras § WEENE

(C) S=eH g9 ® GF fauen 78 i sy

D) S wE ° IS JEE JEEEd B T

Fra oo o famew 9 O o ST T 9= S



www.prepp.in .repp

Your Personal Exams Guide
1 @) ®.©C. D
@y B) @). D). ©)
3y B ). (C). D)
@ @.©). D). B

[Question ID = 1488][Question Description = Q85_IndianCulture_SHAAN_20NOV_S1_Shift1]
J

[Option ID = 5949]
2.3

[Option ID = 5950]
3.3

[Option ID = 5951]
4, 4

[Option ID = 5952]

86) Given below are two statements:
Statement | : Fa - Hien came to India in the reign of Chandragupta Il
Statement I :  He gave detailed description of his meeting with Chandragupta Il
In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4)  Statement | is false but Statement Il is true
= é? e ﬁ{Q T %:

T 1 EE T o % e § 9RG STE 9

FoA I1: o8 =g fdia & @y st gemea =1 fawga feaor R

IR U % T 1, R e T feent § ¥ g s = v fifw

(1) = I3t I13M 99 2
(2)  wR I o 11 3FT /e 2
(3) = IuT 2, afeT e 1L soeT 2

(4) F I 3WT 2, o w118 2

[Question ID = 1489][Question Description = Q86_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Opticn ID = 5953]
2. 2

[Option ID = 5954]
3.3

[Option ID = 5955]
4. 4

[Option ID = 5956]

87) Given below are two statements:
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Statement | : A scene on a sculpture at Borobudur has been identified as the encounter of the newly
enlightened Buddha with Upaka, the Ajivika accompanied by two fellow Ajivikas

Statement Il : At the time of the building of the Borobudur stupa the Javanese were in contact with
Cholamandalam and Ajivikas were to be found in that region,

In the light of the above statements, choose the most appropriate answer from the options given below:

(1
(2)
(3)
(4)

fra @

Both Statement | and 5tatement Il are correct
Both Statement | and Statement |l are incorrect
Statement | is correct but Statement |l is incorrect

Statement | is incorrect but Statement |l is correct

2 fou e 3

L g F gt & wF owa B vrem ggmeitt-aw g i awlfas s, s wr @ we

At &, % |1 92 % &9 ° = 1. B

FFIL:  ANGRE WY F A F G G F A GeHsd F WY 09 0§ 9 3R 59 89 § I

e %)

U B & AErE °, A g e faweai O o geg 3wt W B 9= AN

(1)
(2)
(3)
(4)

e 1 3R Il @l 2
F2H I 3R II<Hl 7T &

F 1 Tl 2, deA w99 [1Te4 2

Fu 1o 2, At 5o [ T3 2

[Question ID = 1490][Question Description = Q87_IndianCulture_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 5957]

AN

[Option ID = 5958]

e

[Option ID = 595%)

4, 4

[Option ID = 5960]

88) Given below are two statements

Statement | : Barkhurdar, son of Abdur Rahman, as he had come to court without a summons, |
(Jahangir) ordered back to his jagir.

Statement Il : ‘It is not according to good manners to go to the king’s banquet without a summons,
otherwise there would be no forbidding of the doors and walls to the foot of desire’.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1

Both Statement | and 5tatement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct
=t g1 = fey T 2

FMAI: ISR AR 92 WGER B g9 % R % @R § 9 W@, 84 (SRei) @ ama

Suh! AF | =
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FIL: o7 @ & AW % TN % Wi § S R SR % 3ERa el B, STl Wi H W

B F Ao T AT Hi 3o W Wiy I T8l |

ST U o A 1, T f2u e Reeedi § @ ge Iuge ST @ 99 S

(1) ey Iofk 11 21 @et 2
(@) w9 1R I gA o §
®  ww 1ad 3, S wu I Tem 3
@)  HF 17ea B, wam I 2

[Question ID = 1491][Question Description = Q88 _IndianCulture_SHAAN_20NOVY_S1_Shift1]
1. 1

[Option ID = 5961]
Lok

[Option ID = 5962]
3.3

[Opticn ID = 5963]
4, 4

[Option ID = 5964]

89) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R,

Assertion (A) : In 1781, Warren Hastings founded Calcutta Madarassa where Muslims could be trained in
principles and practices of Islamic law. Ten years later, Jonathan Duncun, as orientalist scholar-
administrator, founded Sanskrit College at Benaras.

Reason (R) : Both these institutions supported by the government were concerned with classical
learning for Indians.

In the light of the above statements, choose the most appropriate answer from the options given below:
(1)  Both (A) and (R) are correct and (R} is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R} is NOT the correct explanation of (A)

(3) (A)is correct but (R) is not correct

(4) (A)is not correct but (R) is correct

fr o1 Fom fow 10 ¥: T fa®eH (Assertion A) % w9 3 foifiga % @ @0 39 F0 (Reason R) % &9

"

H

AT (A) : T 1781 H TRA BT 3 FHormn et s TeEn i SE JEeHE i W O 6
T ¥ oz s wwen = wfnew B s gar o1 T 99 % WG US Al
Tergr -~ S S 3 ARt § Herd waileerE e |

T (R) : FOER] TErE I ¥ g WENF YR % o weim i | astig 9

ST YA % e o, = fgu et 4 o wed suen s @ = il

D) Q)W (R)2AT T 3R (R), (A) T = 2

(@) (&) IR A T F, AR R), (A) B w2
3 (A=A R, @ R) wd 7@ 2

@ (AR TE g, 9 (R) WE B
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[Question ID = 1492][Question Description = Q89_IndianCulture_SHAAN_20NOV_S1_Shift1]
11

[Option ID = 5%65]
2. 2

[Option ID = 5966]
3.3

[Option ID = 5967]
4, 4

[Option ID = 5968]

90) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reasons R,

Assertion (A) :  The nationalist historians in late colonial times consisted of an English-educated ‘middle
class’ engaging in various activities, eventually turning against the British, and thus giving birth to modern
nationalism.

Reason (R) : British Utilitarian John Stuart mill classified all societies hierarchically, at the bottom of

which were people who enjoyed ‘savage independence’ {oriental societies)
In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both (A) and (R) are correct and (R) is the correct explanation of {A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

T 2t s fou 1w ¥ uw AfieeT (Assertion A) ¥ w9 ¥ fuflg B o gy 39 #Rw (Reason R) =
YW

FRFRYA (A) wadl SiufEfieE #e + uzard sfemmn @ Ry wrman @ weg e
framom wem o % W =fE witer 9 S eniaeer Gfew waw W Ry s @
R 30 THR AT TG Hl 0 g

F (R) fafen suaifmaEnd = T fim 3 off Ta= F qurEs 71w Fmm S
ey w @ o o 5 il sadwar’ v oft (wree ge)

SUURE Y % aTere 4, 49 e 1y Repedl 9 8 @@ sugw 39w 9 i

1) (A R ®) 3 @ F o (R), (A) H @@ = §

@) (A AR I T 2, T R), (A) F T =men 7 2

3 (A = R, a9 R) 7 T 2

@ (DT R, d@fF R) wE 2

[Question ID = 1493][Question Description = Q90_IndianCulture_SHAAN_20NOV_S1_Shift1]

1. 1

[Option ID = 5%6%]
2. 2

[Option ID = 5970]
3.3

[Option ID = 5%71]
4, 4

[Option ID = 5972]

Topic:- 50IndianCulture_B

1) Read the following passage from the Sangam texts, and answer the questions given below:
Where merchants live the fish is safe,
In the sea and the cattle in the land......

Here are brought
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Swift, prancing steeds by sea in ships
And bales of pepper black by carts
Himalayas sends gems and gold
While Kudda hills, sweet sandal-wood
And akhil; pearls
From the South sea come
Red coral from the eastern sea
The Ganges and the Kaviri bring
Their yield: Ceylon provides its food.

Who from the following appears in the Sangam literature as the merchant in gold:
(1) vaidehaka {2) uppu-Vanikam

(3) pon-Yanikam (4) muventar

T B9t § foru me Frenfaa ww w5 9e o B e uT & S 3l (91-95)

&1 =} sod 3, wer aug § wefern It adt o wael gefda 2
T % W FEHEI W A A7 T & Flael 319

A et fired Bt afit @ wlt mifgai

e s & @t 3k

1 & TSl vEliAl §;

o grr @ @i 2 Hid)

sty et @ &

st 2 T il FwEd A deEn;

faett 3o 2 o sweft wiow wmnht

@ wifzes A Fofafas & @ wF wol s7or = w9 d s 27

() e @) eg-afEe

(3)  HT-aEe (4) TIE

[Question ID = 1494][Question Description = Q91_IndianCulture_SHAAN_20NOY_S1_Shift1]
44

[Option ID = 5973]
1)

[Option ID = 5974]
3. 3

[Option ID = 5975]
4. 4

[Option ID = 5976]

2) Read the following passage from the Sangam texts, and answer the questions given below:
Where merchants live the fish is safe.

In the sea and the cattle in the land......

Here are brought

Swift, prancing steeds by sea in ships
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And bales of pepper black by carts
Himalayas sends gems and gold

While Kudda hills, sweet sandal-wood
And akhil; pearls

From the South sea come

Red coral from the eastern sea

The Ganges and the Kaviri bring

Their yield: Ceylon provides its food.

Which of the following places is prominently mentioned in the classical sources for the availability of excellent pearls?
(2)
(4)

(1) Muziris

(3) Poduke

T B9t § foru me Frenfaa ww w5 9e o B e uT & S 3l (91-95)

w8 =} s9d 8, wer ag ° vefeEn o avdt w mash gifde 2
A = U ST o A o @ 2 pldet s

I whrelt irg bt efeat & st migan
Termera Son & =l 3 ™

1 & TSl vEliAl §;

o grr @ @i 2 Hid)
sty et @ &

et 2 T il FwEd A deER,
i <1 & @ sweht st @t

seopg mifat f susrem % fog fefafaa § 9 fre v = safisie =Gt @ ygEa 9 sga e

g7
() g
(3 UiEH

[Question ID = 1495][Question Description = Q92 _IndianCulture_SHAAN_20NOVY_S1_Shift1]

ti:

[Option ID = 5977]
.00

[Option ID = 5978]
3.3

[Opticn ID = 5979]
4. 4

[Option ID = 5980]

3) Read the following passage from the Sangam texts, and answer the questions given below:

Where merchants live the fish is safe,

In the sea and the cattle in the land......

Here are brought
Swift, prancing steeds by sea in ships

And bales of pepper black by carts

(2) wiferig
(4) e

Arikamedu

Colchi
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Himalayas sends gems and gold

While Kudda hills, sweet sandal-wood

And akhil; pearls

From the South sea come

Red coral from the eastern sea

The Ganges and the Kaviri bring

Their yield: Ceylon provides its food.

Which of the following Tinais referred to the coastal region?

(1) Neidal (2) Marudam
(3) Mullai (4) Palai

T TUt ¥ foru mo Pt ww w1 ve o R e ue % S 3 (91-95)

w51 =] ST |, e 9 ° wefemn ot awdt w et gifem 2
FHE % W FEH1 W A 1 & Flaet 319

AR et fird bt et 9wl migan

e soar & @t 3k

1 & Pl dRIiSAl W;

2o @ o sd B A

sty ueff @ @

st 2 T it HEd A deEn,

i 21 & o sweht st vt

et # 2 g foor 3 odim o =1 oo fam e

(1) = (2) wEEH
3 W5 4

[Question ID = 1496][Question Description = Q93_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5981]
%2

[Option ID = 5982]
3.3

[Option ID = 5983]
4, 4

[Option ID = 5984]

4) Read the following passage from the Sangam texts, and answer the questions given below:
Where merchants live the fish is safe.

In the sea and the cattle in the land......

Here are brought

Swift, prancing steeds by sea in ships

And bales of pepper black by carts

Himalayas sends gems and gold

While Kudda hills, sweet sandal-wood

prepp
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And akhil; pearls
From the South sea come
Red coral from the eastern sea
The Ganges and the Kaviri bring
Their yield: Ceylon provides its food.
In which century were the earliest Indian settlements in Java established?
(1) Second century BC (2} First century AD
(3) Second century AD (4) Third century AD

T TUt ¥ foru mo Pt ww w1 ve o R e ue % S 3 (91-95)

w51 =] ST |, e 9 ° wefemn ot awdt w et gifem 2
FHE % W FEH1 W A 1 & Flaet 319

AR et fird bt et 9wl migan

e soar & @t 3k

1 & Pl dRIiSAl W;

2o @ o sd B A

sty ueff @ @

st 2 T it HEd A deEn,

i 21 & o sweht st vt

ST H WA WRH T SEEd e | s T i ?

1 o wd s 2) el wE SRl

(3)  E0 wd g @ <ed wd e

[Question ID = 1497][Question Description = Q94_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Opticn ID = 5985]
2. 2

[Option ID = 5986]
3.3

[Opticn ID = 5987]
4. 4

[Option ID = 5988]

5) Read the following passage from the Sangam texts, and answer the questions given below:
Where merchants live the fish is safe,

In the sea and the cattle in the land.....,

Here are brought

Swift, prancing steeds by sea in ships

And bales of pepper black by carts

Himalayas sends gems and gold

While Kudda hills, sweet sandal-wood

And akhil; pearls

prepp

Your Personal Exams Guide



www.prepp.in

From the South sea come

Red coral from the eastern sea

The Ganges and the Kaviri bring

Their yield: Ceylon provides its food.

Ancient Socotra is known?

(N as the birth-place of Sphujidhvaja

(2) for its silk and sword manufactures
(3) for the presence of a considerable Indian colony
(4) as the landfall for ships crossing Red Sea

[Question ID = 1498][Question Description = Q95_IndianCulture_SHAAN_20NOV_S1_Shift1]
1.

T TUt ¥ foru mo Pt ww w1 ve o R e ue % S 3 (91-95)

w51 =] ST |, e 9 ° wefemn ot awdt w et gifem 2

FHE % W FEH1 W A 1 & Flaet 319
AR et fird bt et 9wl migan

e soar & @t 3k

1 & Pl dRIiSAl W;

2o @ o sd B A

sty ueff @ @

st 2 T it HEd A deEn,

i 21 & o sweht st vt

rE AT S S B 7

(1)  THlieas & 0 LU o T4 5

(2) I3 F T R IeER FH % g

(3) s sufas f s=S-ard sufesfa & fog
(4) I IR TR FE A T % AsEe % ' N

1

[Option ID = 5989]

i

[Option ID = 5990]

(e

[Option ID = 5991]

4, 4

[Option ID = 5992]
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Topic:- 50IndianCulture_C

During the victorious reign of the illustrious Sultan Firuz Shah on Friday, the 5" of the bright-half of Phalguna in Samvat

1) Read the given nagari-inscription on Qutb minar and answer the questions that follow:
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1426, the minar was restored. The work was completed by the grace of Sri Visvakarman. The architect was .... son of
Devapala.... The craftsman were.....

The nagari inscription on the Qutb minar dated 1326 CE refers to which of the following Sultans?
(1) Sultan Muhammad (2) Qutbuddin Aibak
(3) Sultan Mahmud of Ghazni (4) Subuktigin

¥ fam g HAR % T sifecr w ug ok Freafafee wwe w swm d
AR Goear TFUR A8 % foeeft mamse o dad 1426 i T 99 YHan % I5aa qaigd § HAN F5

YA G Bl A2 R oft favewnt it FW @ Q@ gen U IREHR ... AW O ... feuer

e8|

Fea HAT % 1326 @ € % Al sifverg 4 avie Fefefaa § 9 Fra gedm w1 avi e e 27

(1) Yead g2 (2) HEGEA TSR
(3)  Heaw HEYE THEAEl (4 g

[Question ID = 1499][Question Description = Q96_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5993]
2.3

[Option ID = 5994]
L

[Option ID = 5995]
4, 4

[Opticn ID = 5996]

2) Read the given nagari-inscription on Qutb minar and answer the questions that follow:

During the victorious reign of the illustrious Sultan Firuz Shah on Friday, the 5:n of the bright-half of Phalguna in Samvat
1426, the minar was restored. The work was completed by the grace of Sri Visvakarman. The architect was .... son of
Devapala.... The craftsman were.....

During which of the following Saiyyid/Lodi Sultans’ reigns repair work of Qutb minar was carried out?
(1) Khizr Khan (2} Bahlol Lodi
(3) Sikandar Lodi (4) |brahim Lodi

4 fam m Srqm AR % A il i ud ofk Ffata we e
TerRA Gear THw e o et smeeeeer W ded 1426 S I 9T ghar % Ieae qaied § MR

gAfaio wu= gaml A7 wE A frrawal fi FW @ 9o g 3EH IEgHR ... e F YA ... ST

= J

frtafiaa 4 o FFa =1 /9 geam % WEe o a8 9AR i meAa i wE R e

QO s ) wEee @
(3) o o (4) 3efed @

[Question ID = 1500][Question Description = Q97 _IndianCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5997]
2. 2

[Option ID = 5998]
3.3

[Option ID = 5999]
4, 4
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[Option ID = 6000]

3) Read the given nagari-inscription on Qutb minar and answer the questions that follow:

During the victorious reign of the illustrious Sultan Firuz Shah on Friday, the 5: of the bright-half of Phalguna in Samvat

1426, the minar was restored. The work was completed by the grace of Sri Visvakarman. The architect was .... son of
Devapala.... The craftsman were.....

In which of the following years the lightning struck and damaged the top story of the minaret during Firuz Shah Tughlag’s

reign?
(1) 1363 (2) 1365
(3) 1367 (4) 1369

a3 fom T pgm FiR % T aifcre w98 ok fFeafafas e w sw S
AR Gear THUA =g % ot maase @ dad 1426 i T 99 YHan % Ivaa Jaigd § HAn F

YA G BT AE wR oft Fvmwmt i FW @ g gem U IRgHR ... A w9 ... feusr

R

R <Te grIer % wReRe U Fetaiad 4 @ few ad dfar 6 sl afve el el @ ok 9o

ofi 7
(1) 1363 (2) 1365
(3) 1367 (4) 1369

[Question ID = 1501][Question Description = Q98_IndianCulture_SHAAN_2O0NOV_S1_Shift1]
1. 1

[Option ID = 6001]
2. 2

[Option ID = 6002]
3.3

[Option ID = 6003]
4, 4

[Option ID = 6004]

4) Read the given nagari-inscription on Qutb minar and answer the questions that follow:

During the victorious reign of the illustrious Sultan Firuz Shah on Friday, the 5t of the bright-half of Phalguna in Samvat
1426, the minar was restored. The work was completed by the grace of Sri Visvakarman, The architect was ..., son of
Devapala.... The craftsman were.....

According to the above nagari inscription who among the following was the architect of the repair work of Qutb Minar?
(1) Suritrana (2) Viswakarma

(3) Chahada {(4) Darukarmma

Hr fn 7 Fgw HAR % T afie ® 9 iR Freafafas o #Fewm E
A5 Gear TFUR = % ot mamse o gad 1426 H T 99 YHan % Iva gaigd § HAn F;

YA G BTN #E R oft Fovmemt i FW @ ql ge Sue IRgEHR ... AU O ... feuer

-

ST Aftia A Afierg = AR Faw HAR = gm0 angwr Fefafiea § 2 w9 are
)  giem @) Tt
(3) w®s (4) e

[Question ID = 1502][Question Description = Q99_IndianCulture_SHAAN_20NOV_S1_Shift1]
1.1
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[Option ID = 6005]
2. 2

[Option ID = 6006]
3.3

[Opticn ID = 6007]
4, 4

[Option ID = 6008]

5) Read the given nagari-inscription on Qutb minar and answer the questions that follow:

During the victorious reign of the illustrious Sultan Firuz Shah on Friday, the 5w of the bright-half of Phalguna in Samvat
1426, the minar was restored. The work was completed by the grace of Sri Visvakarman. The architect was .... son of
Devapala.... The craftsman were.....

Name the craftsmen involved in the repair work of the minaret as described in the above Nagari inscirption?

(A) Nana
(B) Salha
(C) Dharmu Vanani

(D) Vijayaraj

Choose the correct answer from the option given below :
(1) (A) and (B) only

(2) (A),(B) and (C) only

(3) (B} and (D} only

(4) {B),(C) and (D) only

¥ fam g HER % T sfece w 9g R Feafafea wwe w ewm g
A9 Goear TFUR =g % foereft mamse o dad 1426 i T 99 YHan % I5aa qaigd § HAn F5

YA G Bl A2 R oft favewmt it FW @ QU geT U IREHR ... AW O ... feusr

e8|

SUIRE TRRT S1Te® % STER MR i TAd 1w wRA ae SIeasR i 90

(A) AR
(B) wmeml

(€ o aHH

(D) e

A faw v Tl § o 9 IO @ =999 i

(1) =3 (A) 3 (B)
2 == (A), (B) AR (C)
(3 == (B) IR D)
(4 3w (B), (C) 3 (D)

[Question ID = 1503][Question Description = Q100_IndianCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 600%]
2. 2

[Option ID = 6010]
3.3

[Option ID = 6011]
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| 4. 4

[Option ID = 6012]
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Topic:- General Paper_Set1_A

1)

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)

(1
(3

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% s B
Sales {SA) 12% 5:3
Construction and Maintenance (M) 9% Bid
Professional (PR) 18% Hal
Management (MA) 21% 3:4
Production and Transport (PT) 19% D1a
Others (OT) 6% 3:68

Frefafa afoe w e Hifte fomd o & 3n 94 9 oem % fafm & 9 wma & Fesa = wfoea

(%) T @ yEu-afEen weew o S T 2| 'l s % T wEee @ sem 80 @ 2|

T | 88 TU STRE1 & SR W 9T % I9T Sl

A = AN il EGR T
TR H7 & T 1 Frea
stca (%) fom | gea-afgen oo (37 )
a1 (7@ 3) 15% $:2
TeE (TE T) 12% 5:3
Fmtor 23R orgRar (i ) 9% 5:4
ArEeEe (F 2TR) 18% 57
weuA (T U) 21% 3:4
IeureR iR ufiag (di ) 19% 5:3
317 (21 &) 6% 345

} 6.39 lakhs (2) 4.69 lakhs
} 5.96 lakhs (4) 7.48 lakhs

weft & i e 1 S 6 oiud GoE 99 27 (ZIEs 6 g ST a%)

1)  6.39 @@

(3)  5.96 IT@

(2) 4.60 =@

@) 7.48 9@

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]

o =

2)

1 [Option ID = 8025]
2 [Option ID = 8026]
3 [Option ID = 8027
4 [Option ID = 8028]

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given

vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :
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Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (5E) 15% b
Sales (SA) 12% b:8
Construction and Maintenance (M) 0% bod
Professional (PR) 18% b7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5.3
Others {(OT) 6% 3:6

frefafan afes w faem Hifve Sew o 2 ge ot J i & ffte @t 4 ara & weisw = gfowa
(%) T aon ge-afgen wElse sgud qatn T g wft S % P wEEd 6 GEm 80 u@ 2

qrferssT ¥ 34 77U 3RS % YR W YT @ I9 fag)

I % FHEEe 1 A% G
TR, oh1 &5 HIGq = eHrEee
wfcrra (%) fereror | gey-wfgen sgTa (g7 )
o (vd %) 15% 3:2
Tow (T 1) 12% 5:3
fmtor 3fit s (ot @) 9% 5:4
wrbeEe (i 3TR) 18% 517
oA (T U) 21% 3:4
IedTEa R uftEsa (i ) 19% 5:3
37 (a1 &) 6% 3:5
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The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?

(1) 330%
(3) 320%

(2) 318%
(4) 80%

wg § ot ff o & # Wk aften e ga gen @ o & § weka g wEea foasn w5
feren wiferera 27

(1
(3)

330%
320%

(2) 318%
(4) 80%

[Question ID = 2008][Question Description = Q02_GP_20M0V_S51_SHAAN]

e ld B

1 [Option ID = 8029]
2 [Option ID = 8030]
. 3 [Option ID = 8031]
. 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distmbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 8.2
Sales (SA) 12% 5:3
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The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of

ULISLE WG LIVLL S LI VAL LIVELLEALIGT LLVLY

=0

U .=
Professional (PR) 18% BaY
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5.:3
Others (OT) 6% 3:68

Frefafa @fom W fiem Hift formd o & gn 94 9 oem % fafim & 9 wa & Felsa = wfowa

(%) T @ yEu-afEen weiew oTua w2 'l il % T wrEee S sem 80 @ 2|

AT | 88 7TU STRS1 & SR W 9T % IaT aer)

HREG = s Rl e e
TSR 7 & WiE 1 e
st (%) fom | gea-wfgen sguw@ (37 )
T (TH §) 15% 3:2
TE (TE w) 12% 5:3
Fmtor 33k orear (i ) 9% 5:4
e (d 3TR) 18% B3
weaA (T U) 21% 3:4
Ieures iR ufias (di 2 19% 5B
3= (A &) 6% 3:5

workforce in PT sector?
(1) 82% (2) B7%
(3) 89% (4) 85%

TH T 37 TN T &) °§ HEd 95 BEEd H Fa G 6 F 49 § T SEsd o fe Geal 1 aTET

fora widwa 27
(1) 82%
(3 89%

2 87%

(4)

85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_51_SHAAN]

b

b

1
2
3.
4

4)

1 [Option ID = 8033]
2 [Option 1D = 8034]
3 [Option ID = 8035]

. 4 [Option ID = 8036]

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distmbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 8.2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% Bid
Professional (PR) 18% G
Management (MA) 21% 3:4
Production and Transport (PT) 19% h:3
Others (OT) 6% 3:68

Frefafa afom w e Hift fomd o & gn v 9 oem % fafm & 9 wwa & Feisa = wfoea

Filt T %ﬂﬂw =rfOTT TTTTT Trg:l'l' .4_“5.4_. “~TTTTT=T -_I'E'.TI;TH' TTTITT %! -n:fa'r':i' D-:'l:;i' é_- === :.-Iﬂsﬁﬂ' é‘r -r;-!r-m.-r = oy ] éri
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;Tf;lﬂﬁﬁQ‘Tt{‘f‘ _*‘:?ﬁanaﬂqtm; %;ma“r%rqlv ) 4 B
Td % S H1 & foawor
TR 57 & TG < e
wfera (%) o | ged-Afeen ageE (30T )
a1 (TH 3) 15% 3:2
Bew (T 1) 12% 5:3
Fmtor 23R ergeaor (i o) 9% 5:4
e (i TR) 18% BT
weraA (T U) 21% 3:4
Ieures IR ufias (4 3) 19% 508
319 (a1 &) 6% 8:b
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The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs (4) 13.2 lakhs

TH T R TH U A FrERA Afgen FwEsa i FA qem o G & g7 9 Feka afsen e H e
o PraTr 27

(1) s5.1=m8E (2) 7.58

(3) 5.7 AEg (4) 13.2 9rg

[Question ID = 2010][Question Description = Q04_GP_20NOV_51_SHAAN]

1
2
3
4

. 1 [Option ID = 8037]
. 2 [Option ID = 8038]
. 3 [Option ID = 8039
. 4 [Option ID = 8040]

%) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Worlkforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (5E) 15% 3:2
Sales (SA) 12% b:3
Construction and Maintenance (M) 0% 5:4
Professional (PR) 18% B:7
Management (IMA) 21% 3:4
Production and Transport (PT) 19% a2d
Others (OT) 6% 3:b

frefafaa oo w faem fife fed ws @ ge ot § toem & ffes g3 4 vra = welse = gfoea
(%) Toreor qwn qey-ufgen =eee SO gmiEn T 2| gl & % per hrEse i G 80 @ng 2|
qrferssT ¥ U 77U ITRST % MUR W YT @ I fAg)

TR =1 &3 WG & FHad
ytaer (%) Taaw | geu-ufgar ogque (g7 )
o (vg 3) 15% 3:2
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Tow (T 1) 12% 5:3
fmtor 3fit s (ot ) 9% 5:4
e (d 2TR) 18% BT
WeeA (T U) 21% g d
IedTea iR uftEea (i ) 19% 5:3
= (3 &) 6% 8:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17: 39 (2)16: 37

(3)16: 35 (4)16: 39

Ht T @ § FERa Afgen FESd i 96 R 9 AR TE S A &E § HeRd 769 wEed $ fe QeI &6

ST oA B ?
(1) 17: 39 2y 16:37
(3) 16 : 35 (4) 16: 39

[Question ID = 2011][Question Description = Q05_GP_20M0V_S1_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4, 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

AL % fFE T § gen IR AR ST ger 1 TeA FE IR 6% Saread TRgAIHoT W Bl & 7
(1) wgfa == (2) =T T

(3) HHRX (4) wErd TFE T

[Question ID = 2012][Question Description = Q06_GP_20NOV_51_SHAAN]
1.1

[Option ID = 8045]
2. 2

[Option ID = 8046]
3.3

[Option ID = 8047]
4, 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A} Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frfafan 32 giatg st amaett 6it gt 2 G sromm ged fafe ol = meam 9 faf=a e
T 21 5% IR S weER smay i avard 8| 3 @ F1 o guaTe =Heer AT ¥ e ordt £7

(A)  SeR-aHal (Ame)
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(E)

= o o famedt § § w8 S 1 99 Fite

(1)
(2)
(3)
(4)

(A) ¥R (B)
(B) i (C)
(D) ¥t (E)
(B) ¥R (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]

P |

[Option ID = 8049]

i

[Option ID = 8050]

30

[Option ID = 8051]

4, 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing

effectiveness of the method.
List 1 List I

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (1) Using Swayam and Moocs

(B) Open and distance learning method ({ll} Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)=Q1), (B)-(11}, (C)=(I1), (D)-(IV)
(2) (A)-(1l}, (B)-(IV), (C)-(1), (D)-(11)
(3) (A)-(V), (B)-(I), (C)-(), (D)~(1)
(4) (A)-(ID), (B)-(D), (C)-(IV}, (D)-(NI)

-1 % wr gh-11 & e i) g=hi-1 9 3= siftrm mwenett o faao $i Bt 6 o€ €, o= gt

I1 # siferm faftet 6 wesfiad e $i gt @ 08 )

M-I
ot it faftrn
(A) ImE-unH 61 Fathamers faf
(B) T it guadt wiftrm fafly
(C) Toraror it daferer fafkr
D) gy i T iy
9 fav o fawedl © O SO% w1 99 Hih
(1)  @)-1), (B)-AI), (C)-(IID), (D)-AV)
@)  @-AIDh, B)-aV), (O)-0), (D)-(I)
(3)  A-av), (B)-(I1I), (C)-an, M)-(D)

@

(A)-ID), (B)-). (C)-AV), (D)-(11I)

Tt I
uHTEEedl 93 i dhAlh
) Ta=d 3R qag & JEe
Iy TRl TS Yha
(I1D) Wggw Frfeumen qrefi
(IV) wical % wy-wry e wwa

prepp

Your Personal Exams Guide



www.prepp.in .repp

Your Personal Exams Guide

[Question ID = 2014][Question Description = Q08_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8053]
. 2 [Option ID = 8054]
. 3 [Option ID = 8055]
4 [Option 1D = 8056]

oLk B2

4) Given below are two statements

Statement (I) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (ll) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees,

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I} and Statement (ll) are correct

(2) Both Statement (1) and Statement (I) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (1) is incorrect but Statement (11} is correct

97 (D) : ITeifed o wiftermar oo = wlienfe=l % T o 3t gaar 1 Tudt dimr
ST e % e AR T S 2

e (I0) : Fegig =afeea wlam i nad =afraa e et = fafie smer 3 o =
u % gEeE 8 IR ey 9 #)

ST FI H AR 4, 45U 0 frrew ¥ @e8 SUERE ST T T ST

1) F @ A 2 wE 2
2) A (@) 3 (I) 2 e
3  F O 2, A T (1) TR R
@)  FF (D) e 2, SR w99 (D w8 R

[Question ID = 2015][Question Description = Q09_GP_20N0V_S1_SHAAN]
1 [Option ID = 8057]
2 [Option ID = 8058)
. 3 [Option ID = 805%]
. 4 [Option ID = 8060]

e it D

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both {A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but {(R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) {(A) is false but (R) is true

fia @t #vm g e  : TF iR (Assertion A) % &1 7 faflga 3 @ q@u 3w F (Reason R)

ERuR-IE

AATHFIT (A) : foreqor o smgfi o7 a8 ® & st mEmEa gonelt W fET wEeE stitm wiwm
i TEAY &9 2

=1 (R) et warEh fagm gemar el w1 sftm afdwsfet 4 gur % o 93w G s
il

I9UH HF F A 8, 79w e e § @ w8t smow 9 Al

(1) (A R (R) 371 TcF 3 AR (R), (A) F1 W&l = 2
@) (A3 R) FF T £, S R), (A) F wE =men 16 2
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(3 (A °H 2, AR (R) 918 2|
(4) (A ¥=A 2, A (R) 73 2

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant’s perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

fora R % Ty # wigarfi-ufdes = Dentsa Fe S e?

(1) o W () et wy
(3)  =AEATR W (4) TR WY

[Question ID = 2017][Question Description = Q11_GP_20M0V_S1_SHAAN]
. 1 [Option ID = 8065]
2 [Option ID = 8066]
. 3 [Option ID = 8067]
. 4 [Option ID = 8068]

e it R

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

uitsreum aftemr frht afmfe o @t sifigf® = oufe % =v 4 2l 3, oy 6 Fe=fafea § @ & &t

] T GUHR 27

(A) faavones &Y

(By  wH=nTIoA=s Tafy
(C) = fafy
(D) fezfes &ty

(E) =amwEmess oy

F= fon 7o famwedt § @ OF 3w w1 99 ST

1 @B
@ (B IR©
@  (©) R D)
@ (D) HA(E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072)

8) Match List | with List Il. List | gives steps of research while List |l provides techniques used.
List 1  List Il Steps of research  Techniques used

prepp
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' (A) Problem formulation (1) Tabular and graphical representation of data
(B) Hypothesis making (llI) Drawing a subset from a larger set
(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis  (IV) Setting up relationship among variables of research
Choose the correct answer from the option given below ;
(1) (A)-(ll1}, (B)-(IV), (C)-(N), (D}-(I)
(2) (A)-Q1), (B)-(I1}, (C)-lIN), (D)-(IV)
(3) (A)-(11), (B)-(1N), (C)-(), (D)-(IV)
(4) (A)-(1l1}, (B)-(I), (C)-(I), (D)-(IV)

A1 % @y gef-11 1 foers fifs) g1 5 w9 % = uea 2, a0 gef-11# 3793 gr1 Ygw a®

el Feft-1I1

T o = TR H 8 ST TS
(A) T e (I)  7oRsl =1 Arfirs 3 ATt Tegdiso
(B) wftrewEr fmfor D) U FoTX YT ° T H
(C) e afen =1 =2m (III) < % &3 & 9T uv 33
(D) kg farwesor AV) " % = % s gae i e
= fou v famedl # © W SR H1 9 B

1)  A)-d@D. B)-aV), (C)-aD). (D)-(D)
2 A)-O. (B)-AD, (C)-AID, (D)-AV)
(3)  (A)-dD. B)-1), (C)-D), (D)-AV)
(¢  (Q)-dID. B)-@), (O)-AD. (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20N0V_S51_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4, 4 [Option ID = 8076]

9) Given below are two statements

Statement (I) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (ll) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I} and Statement (ll) are true

(2) Both Statement (l) and Statement (Il) are false

(3) Statement (1) is true but Statement (I} is false

(4) Statement (1} is false but Statement (I} is true

H= gt wuw fow e F

97 () U T-TEY S ME-1T § dgd o geda % e iR el & dftw #E sta 78
e 2l

%o (ID) g Geiet Aiaerar 30T ggeR SaeE ot il s for sifar 2

ITUTH Y % A 1, A ou e et 1 @ wdt s wue e

(1) =9 (D ik D) 31 73 51
(2) W (D) R D) I 1me 3

(8) = () " 2, dfth =maa (D) 59 2
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(4) =Y (1) 379 7, die HE (11) 93 2|

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077)
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R} : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both {A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of {A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Hi= 2t o fog g £ ;TP sifimO (Assertion A) % w7 7 fafaw & @ 350 S5F 1 (Reason R)
w9

wAfeE (A) ; et wiy afiseu (Hy) #1 Pl o (Ho) ) s @ o frn s
=|rEa|

HR (R) : s afiepenr (Hy) =R ashanta i sfugf @8 w9 @ 78 &t @0 gt 2

SUIE HUA % A 5, T G T fweat 0§ a9 S99 ST w5 99 FIR

(1) (&) 3R (R) IA TE 2 o R), (A) A & =7wEm 2

(2) (A s (R) AT wd §, i (R), (A) F g wmem = R
@ (A FE 2, I ®) T8 T R

@) (A =E TE 2, AR (R) wE R

[Question ID = 2021][Question Description = Q15_GP_20M0V_S1_SHAAN]
. 1 [Option ID = 8081]
2 [Option ID = 8082]
. 3 [Option ID = 8083]
. 4 [Option ID = 8084]

bl B

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

yredta v afe Todw N i nE e feafafaa d @ fa o =t ma 27

(1) 30 SHad (2) 30
(3) 15 IEA (4) 15 Ty

[Question ID = 2022][Question Description = Q16_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8085]
2 [Option ID = 8086]
. 3 [Option ID = 8087]
. 4 [Option ID = 8088]

P

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

foFm THMERT 1 - (M) "Let truth prevail” 87

Q  f2 e Q) T A 3
3 fafEm @ 3Ry

[Question ID = 2023][Question Description = Q17_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

prepp
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13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both {A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 3 FF fim e B : v AfUA (Assertion A) % w9 # faflad 2 at ggu 39% FR (Reason R)
% &Y H

aified (A) aAftrs wan (sigre) s i gafweie i st g 2, weg A3 Hiz
) T8 T SOF U9 U2 @ 2

FR (R) FER TERY (Fiswne) Hitea W A 2 i 8T WeE 2

U HUT % AT 5, o u v feeut O O we S SR o iR

1) () 3t ®) A g 2 =R R). A F wd =en 2

@) (AR @) A E, At ®), Q) B e s T Y
(3) (AT R, afe (R) w78 2

@) (A TE TE 2, S R) wE 2

[Question ID = 2024][Question Description = Q18_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8054]
3, 3 [Option ID = 8095]
4, 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3} (C) and (D) only

(4) (A) and (D) only

FIOER % U & 37 MUl Uiel Aehies FRE TR ¥ T TR e 9 sl difed guv

(d) e fam fafimt 6 emar 6w F G
(B) ¥=1 Tl safim siwe % @y v 23 %
(C)  amfm Fi e gomel = TR "9 % fow

(D) o= °ron SR % fore fr e = wo we it g )

H for T foeredt d W oW SUET 3T 0 UE iR
(1) e (A) 3R (B)
(2) %W (B) 3 (C)
(3)  Faw (C) A (D)

(4  Fad (A) (D)
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[Question ID = 2025][Question Description = Q19_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098)
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

i & 18 g d @ e £ wEEmie st . e S

& i
(B)  wmE
© T
(D) &g

(E) &= =1 9 g

i1 fou 7w fawedl § @ UF W H1 9 HI

(1) == A), (B) 3 (O)
2 % (B), (C) (D)
(3 %3« (C). (D) 3R (E)
4  Faw (A), (C) (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8101]
2 [Option ID = 8102]
3 [Option ID = 8103]
. 4 [Option ID = 8104]

oW

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/~ (2) Rs. 4,000/-

(3) Rs, 5,000/- (4) Rs., 6,000/-

T T4 % A0 U TRER W oIhd Wik 599 U 3 Worl ¥ 4000 T, IOE ST 4 Her H 4500 T
R 2fim 5 WEET 9 5000 T 97| AfE 3@ T % A A g9q 5000 ¥ off 91 3w ufEw fir eiga

Mg wma e i ?
(1)  3000/- v (2) 4000/- w3
(3  5000/- TR (4 6000/- T0@

[Question ID = 2027][Question Description = Q21_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107)
4. 4 [Option ID = 8108)

17) Find the average of all prime numbers between 70 to 90
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(1) 76.5 (2) 98.25
(3) 55.75  (4) 56.75

70 & 90 = st= it ol arar=w wewe % sitgd sdqd -

(1) 76.5 (2) 98.25
(3) 55.75 (4) HB.75

[Question ID = 2028][Question Description = Q22_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4, 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) B0%

T ARG 33 WX 39 9 W 11 X 39 F e gem % v W aifsia FRan 21 wfowa #§ @

L
1) 25% (2) 50%
(3  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26%  {2) 5.26%
(3) 5% (4)7.2%

o7 el =g o1 Wi ged U Fsea ged w1 95% 2 at e ) wfawren @9 27

(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

[Question ID = 2030][Question Description = Q24 _GP_20NM0V_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4, 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs. 2,000/-

(3) Rs, 2,080/- (4) Rs, 1,560/-

72 is =afn fordt avg w1 25% ufawa i 2 & 38 1200/ - o7t 3§ dwar & @ 30% =1 @19 HAH
fore =@ =u =5 g = fw Fima W sS= =R @ e

(1) 1600/~ v (2) 2000/- ¥
3  2080/- ¥ @ 1560/ &

[Question ID = 2031][Question Description = Q25_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge {(pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known cbject?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

TS M avRard | T Frefafaa d 8@ - | o 9%g o R 3 9%g % |1y seea ®
STefa 27
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(1) @ty (2) ogEHE
(3 swaH (4) Uy

[Question ID = 2032][Question Description = Q26_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanava)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijha)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A}, (C), (B)

(2) (D), (C), (B}, (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A}, (B), (C)

I TehATRE = TTER T 5 A H T 1 Gl 369 o 8 7

&)  fommed faw= @ seeor it gaa /[ sEisTar & w5 (3THE)
(B)  HROT F HE (27)

€  afaamon i g % =0 3§ gy (Frme)

(D)  siferarom = e (wiw)

(E) Tifea Frem = sEre 3 (SEmew)

e fau mu famredt 9 9 Ol IO 99 T

1 (D), E), A, ©), B

@ (D). ©). (B). (A). (E)

(3 (D), (B). (E). (A). (O

@ D) E).A). B O
[Question ID = 2033][Question Description = Q27_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) Which of the following schools of Classical Indian Philosophy reduce Sabda pramana

(verbal authority) to inference?

(A) Nayaya
(B)  Vaisesikas

(C)  Buddhists
(D) Mimamsa

(E) Carvaka/Lokayata

Choose the correct answer from the options given below :

(1) (B) and (C) only

prepp
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(2) (B). (C) and (E) only
(3) (B) and (E) only
(4) (A). (D) and (E) only

U YRAT S 1 A -|] WIS Wes YA il STHR F HAOTd T @ 7

& =

B Hifw

© ditg

D) s

(E) i /et

el fau o feepeai § o Wl R w1 wme Fif

(1) e (B) 3R (C)
2)  F= (B). (C) IR (E)
(3) = (B) A (E)
4 FI9(A), (D) I (B)

[Question ID = 2034][Question Description = Q28_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement () : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence,
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (1) and Statement (ll) are true

(2) Both Statement () and Statement (ll) are false

(3) Statement (1} is true but Statement (ll} is false

(4) Statement (I} is false but Statement (I} is true

f=t 3w g E

%o (I) : A MR ahaT  STER T R Tl s o Ta ot 2T 2|

w9 (1I) At weaer a7 42 sardt 3 % 78 fra uer & sEm e wifee sfew axge: =7
war 2 755 29 8 oTEm @ 2

SURITH T ok et |, A 4y T et | o @€ s = = i

(1) = (@) IR JD) 5 T 7
) wuF (D) #AD T o F
(3)  wu () oA 2, @il =y (D) @19 2|

(4) = (D) @A 2, wiFE weE (1) e 2

[Question ID = 2035][Question Description = Q29_GP_20NOV_51_SHAAN]
s U5 |

[Option ID = 8137]
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[ 2. 2

[Option ID = 8138]
3.3

[Option ID = 8139]
4, 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (I} Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason  (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll} Therefore there is fire on the hill

(D) Statement of thesis to be established (V) Becuase there is smoke

gefi-1 % @ g=hi-11 = frem fife)
-1 w11
% b =l RECICD]
(&)  aAfvaron =i AT = w9 A4 g @ e 9AT B @ T AT B 8 AU WS
T
(B) =hRT =T A D) wEE W A |
(C) fafea Frem = sgwn &0 (1) safe veErd @ e 2|
(D) wonfem i samet siumon =1 w99 IV) FAi% a=5f gsi B

= fau e faereql § ° 9l FuC 1 =9 Fifg

1)  A-O, B)-AIDh, (C)-0V), (D)-(IL)
2 @-IV). (B)-dID. (O)-A). (D)-aD)
(3  @-AID, B)-AV). (O-(I). (D)-AD
@)  A)-dn, @)-{, (CO-d1D. D)-IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8141]
. 2 [Option ID = 8142]
. 3 [Option ID = 8143]
. 4 [Option ID = 8144]

T

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :
(1) Faster RAM  (2) Blu-Ray Drive
(3) Solid State Hard Drive (4) LCD Technology

wF TS & W A T 2 A U B Hise % Aueig =1 i Ben § el wn g 6 g et 2 an
it et Siaeiy wisel i i AR | BT S FoF | w9 3
T\ T % fon e denfies =1 u=im e e 27

Q) X (dm) = @ =g
(38) TirE w7 o8 g (4) S A B ST

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146)
3. 3 [Option ID = 8147)
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (0S) installed on it.

Reasons (R} : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below
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(1) Both {A) and (R) are true and (R) is the correct explanation of (A)

(2) Both {(A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) {(A) is true but (R) is false

(4) (A) is false but (R) is true

4= 2t =@ i e 2 ;. v aifyemus {Assertion A) * w9 | faflga %T—ﬁmﬁ‘wﬁ? O (Reason R)
FETH ;

AfIFH (A) : Teash AW TASH el § U ffEn faew snars =0 @ weufia g =nfim)

ST (R) © 5T A Bl Hie IR W I  garg T8 o ged |

ITUTH U ok S °, A= Su T famedt § O 98 3w =9 hifae

(1)
(2)
(3)
(4)

(A) @ (R) 3T & E 3R (R). (A) ) @l =amen 2

(A) 3R (R) 3F1 &4 2, @f (R). (A) i @&t =men 72 2
(A) w7 2, 9T (R) 3/ 21

(A) oT8e 2, A (R) T 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity

(A) 1500 M Bytes

(B) 5 K Bytes

{C) 1 G Bytes

(D} 2 T Bytes

Choose the correct answer from the option given below :
(1) (D), (A}, (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

a4 9 T I B Gual = w9 ° e WRS guaieti % 98 9 i IgeH i)

(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) T Bytes

H fom e fweat # 9 &l s W == it
1) D) @A), ), B

2 @ D). 0.6

3 @B ©O.D

@ D) ©.A). B

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]

oW =

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :

. 1 [Option ID = 8153]
2 [Option ID = 8154]
3 [Option ID = 8155]
. 4 [Option ID = 8156]

Statement (1) : Wi-Fi has a shorter range than Bluetooth.
Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth.
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' In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (l) and Statement (ll) are true
(2) Both Statement (1) and Statement {ll) are false
(3) Statement (1) is true but Statement (I} is false
(4) Statement (I} is false but Statement (ll} is true

@Bl o weie § fored sy it ag-d St 2 €, i gt e fag e #

o (D : -8 H I sy W FA Bl B
o (ID) ; STE-hTé % HTEHS U SeEd oh e g At diw o A a1 S 1 wewar 3

IO FYF F oners |, T8 B e e # 9 ol so w999 il

1) FE (D) S D A T B

)  wu (I) S AD 2 o3 B

(3) = (D uA &, I w5y (D 93 2

(4) =Y (D) A 2, dFA w9 (1D T 2)

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8157]
2 [Option ID = 8158]
. 3 [Option ID = 8159
. 4 [Option ID = 8160]

o

30) Match List | with List 1l :

g=it-1 = @ gefl-11 = faee Rifsm)
Ein! 11
(ST gTiCioes 3reg) (sPrtT)
(4) OCR @) <fFa = wafafga Fwaes F TR T %
for v g 7)
(B) OMR A wz-frpedm et § o ¥gH w9 % fon
T il 2
(C) Email (I11) ST FrgHeH
(D) Instant Messaging (AV) GH=RITeTH %‘?ﬁjﬁ%m
f= fau u famwedt 4 9 aft sw w1 === Fif
(1) (A)-dAD. (B)-(D). (C)-AV), (D)-1I)
(2) (A)-AD, (B)-(D). (C)-(1I), (D)-(IV)
(3) (A)-(0). (B)-IL), (C)-(I1I). (D)-AV)
(4) (A)-I), (B)-(ID), (C)-IV), (D)-(11T)
Match List I with List IT:
List I List II
(Computer Terms) (Purpose)
(A) OCR (I)  Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinaiions
(C) Email (III) Asynchronous Communication

TN Tommdbmand AT mmm s et e P b 7 i TR . NS, U o, P Wy
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Choose the correct answer from the option given below :
1)  A-AD, B)-D). (C)-(IV). (D)-dII)
(2) (A)-AD, (B)-D. (C)-(11L), (D)-(1V)
3  A-@O, (B)-dh, (O)-(IID), (D)-(IV)
@  Q-@, B)-dD. (O)-AV). D)-A1I)

[Question ID = 2041][Question Description = Q35_GP_20NOV_51_SHAAN]
11

[Option ID = 8161]
2. 2

[Option ID = 8162]
ded

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2} Methyl chloride
(3) Carbon dioxide (4) Methane

frfefiga 9 9 $la-ar % 99 = o FE G gmd 20

(1) &R IEATEES Q) Taorse weivss
(3) e STEITHETSS @ e

[Question ID = 2042][Question Description = Q36_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frafafiga 9 9 wi-w = Fiq RS9 w5 w1 T 8 e

(1)  sadig s (2) 9@
(3)  BEen (4) tergE

[Question ID = 2043][Question Description = Q37_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8169]
2 [Option ID = 8170]
3 [Option ID = 8171]
4 [Option ID = 8172]

-

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic (4) Storm

fmafafiga # @ Fia-=h wplas U IR Sgd 3 ofi sud T im oE a2 ¢

(1) = (9) woHEEt R
(3)  wgmd (49) TEH

[Question ID = 2044][Question Description = Q38_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4, 4 [Option ID = 8176)

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) Mational Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

NG WERE ! TieRviE #1291 % @2 § NMSHE S=fafiga § & e g 27
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(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalavan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Qzone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), {(C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

{4) (B) and (C) only

frfefas o o fr Tl o1 afise S0 AT % TR SR STy TReE W9 8 7

(A) TN SISATHATES
(B)  TOTRR 9g1e (PMas)
(C) oA

(D) Hem

(E) A58 SIEERs

F9 faw o Aol § ¥ S w1 = hiR

1) = (B), (C) 3R (D)
2  F= A), (B) R (C)
(3)  Haa (B) s (D)
(4) e (B) 3T (C)

[Question ID = 2046][Question Description = Q40_GP_20M0V_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?

(1) UGC ; ; (2) NCTE

(3) NCERT ; ; (4) AICTE

7= T & ged o, wAdT s=mm e 4wl e § o gigmsma dan g fuifa sw & o
fratafaa 4 ¢ fra vdm ferm /o =t e fear an?

L gt @ @A
3 wHsamd (4 oI H g

[Question ID = 2047][Question Description = Q41_GP_20N0OV_S1_SHAAN]
. 1 [Option ID = 8185]
2 [Option ID = 8186]
. 3 [Option ID = 8187]
. 4 [Option ID = 8188]

e it BRI

37) Match List | with List 1. List | names various organizations while List Il gives their location :
List1 ; ; : ;Listll
(A) NAAC ; ; (1) Delhi
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. (B) NIEDA ; ; (Il) Bengaluru
(C) NDRI : : (lIl} Lucknow
(D} CDRI ; ; (IV) Karnal

A1 % Wy goH-11 = e i
-1 gfi-11
@ weTd O e
B wWaRdT 1) s
(€) A Sl 3T () wgs
(D) =3 s omd (IV) =

5 fou Tu fawedl 4 @ u s W 9 A

(L
(2)
(3
(4

(A)-(1I), (B)-(III), (C)-(I). (D)-AV)
(A)-(D, (B)-D. (C-AV). (D)-(11I)
(A)-A1D, B)-ID), ([C)-D). (D)-AV)
(A)-IV). (B)-(ID), (O)-AD). (D)-D)

[Question ID = 2048][Question Description = Q42_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8191]
4, 4 [Option ID = 8192)

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?
(A) Articulate new directions for research and innovation in technology.
(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.
(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).
(E) Build intellectual and institutional capacities in Educational technology.
Choose the correct answer from the options given below :
(1) (A}, (D), (E) only
(2) (A}, (B}, (E) only
(3) (B), (D), (E) only
(4) (A), (C}, (D) only
73 foren fifa (w1 € f1)-2020 % & § & v Fit T FE T @ 2| 39 FrRm % ffEa mwm w37

(&)
(B)
(€)
(D)

(E)

TENfRRt ® STgEaE SR T9TaR 3 e Fem dw wen)

AT 1 T 2 MR % W % geg ¥ RER % 999 SEM-TEE 39 UF w9 gRa S|
gefi YR TS I ST ¢ H UErdl g SpuTd e =i e e

e ufemt, Hf R SeEg uftadT % g7 § Afves et w0 ame e g anféfERee
ST 1 TN T T SATUEE ST T FAT

fSrear Wit § Sifg® ofR TLUTT Hmaed %1 a5

2 f2u mu foreat § 9w sax w1 = Filfd

(D
2)
(3)
(4)

w49 (A), (D), (E)
*T (4). (B). (E)
% (B), (D), (E)
I (4), (O). (D)
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[Question ID = 2049][Question Description = Q43_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4, 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B}, (E) only

(2) (A}, (C}, (D) only

(3) (B}, (C), (D) only

(4) (C), (D), (E) only

Frefafea ¥ @ -9 s-wifrm 59 87

@) =

B) "

(C)  Taaus

Dy <k

E) T

2 fau o fawedt § O wE A% 1 oA i

(1) === (A), (B). (B)
(2) == (A), (©). (D)
3) == (B). (C). (D)
@ == (C), (D). (B)

[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-47
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T U % GIE oW gR A 2015 H uaa fawE wed-4 @ wetug frefafad 3 @ Sh-w @ smaen

T U1 ¢
(1) a9 W IR agew (2) ToTETTgER e
(3) TSl e (4) == TETER TS STEEE

[Question ID = 2051][Question Description = Q45_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3. 3 [Option ID = 8203]
4. 4 [Option ID = 8204]

Topic:- General Paper_Set1_C

1)

Read the passage carefully and answer the questions that follow -
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The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating social. economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost., The World
Bank projects a US 3110 billion declhine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T o GREEEE 98 AT 59 a1 3T T 99 W IW 3

FIAT AP FIfaE- 19 HEMRT TAR W99 1 SIAqd 4T e g 3R g favaag = o & wsd
a1 T 31 et ad 5 oifim 5 o oRm § U 39vE F WY AR GERE SR T SISE U
HETda ® ¥l IR B 19 T g@E BT W 10 NG AP S S el g 8 AR gl wear B gl w6
T SEAE Sy IS U TE 2| UGy AE WEWN) WReA GHe ¥ wE AfE P, U Ok g
amE-alE wwe f 3| W W UST At e AWiaT ) e famerert @ omide o
(Feradl) & 7 & St dt w =Tl e WaF 9 T 8, WY o 9% fava T weA % ueEm U we ©
@R wedl gedl B ol 3@ w Foaw u Afvaw uedE et feem % oW W o 3 @ e
ao-aEe & Sged # Foas e @ g1 ' B e srot Ao ot o mer @ 21 s van B ufifeufi
Fe G BP0 W gt Fivit g ddtE Tl % gles ik wgg-ae @t 9 3| saddm om ded W
g 2 5 400 fafemm (40 =) i it Treien o vt ) faza 4% 3 R oA R R owm e
ge-Tu (ifda) 4 110 fafermm smich sen = =+t swl) goem s1hme 2 B 500 fuferm (80 #Ug)
ST Ao gRend) SEl B g R § awd TE )

The major crisis faced by the world since World War 1l is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

facftar forgerag = =12 faza =1 as@ @z de ow &9 & S 27

(1) s (2) YR
(3) wER (4) W

[Question ID = 2052][Question Description = Q46_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8205]
2. 2 [Option ID = 8206]
3. 3 [Option ID = 8207]
4, 4 [Option ID = 8208]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the

tragic milestone of one million deaths. and the human family is suffering under an almost
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The

intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1is the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TS i WEYHIYS® 98 a9 35 18 76U T8 93 9 I 2

FIAT T FITS- 19 HeMRI TH1 THE T STYAYd 37T TR o9 iR finta favagg & o i v=w
o€t T R1 fimet ad & sifim A F <R § cud s % @Y 95 A SeHRE H SisH 9o
g # e Yo 2| 99 T S@E BT A 10 TR AT I S a9 & iR ol Arear # el w6
T SEET W IS U8 W 8| g A7 TEWR @R UHE W W HUT B, A9 Th SEE
amfam-alls @z ot 21 3@ = wEw =i ow wwitE 2 e faTmwr amEtas onfie o
TS R I U AT @ o o O o Tl e @ gt 1 dgee oy werieees e afaafy
(ferarll) 1 9 T 31 ot wF aieht (cd e AR @ R, WY B R Fva TR W F Wedr ¥ 99 @
= weadl gEal B ff 3@ W@ 2§ o 75 AfTaw o eghem feEsm % e At off 3 @ Eise
AT & g § e g 21w e o et it ot om ) 21 9% 9 wan B afideatr
e GHTE w01 weT i Fivl g gidt Tl % sles iR wg-ae @relt 92 21 siaddm am weA
A 2 5 400 fafemm (40 =) = it eien s w8 faza S 3 sEm omen @ PR osm
g=-t (ifda) 4 110 fafer smfch sen =+t et g sihime 2 B 500 fufem (80 #ig)
A A i) el @ U e g d 8 )

pandemic has left which of the following area unaffected?

(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

TEHl W et ¥ @ R 8 W weE 8 g1 27

1)
(3)

i (2) T
AR 3T T (4) TFTEIR

[Question ID = 2053][Question Description = Q47_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8209]
2. 2 [Option ID = 8210]
3. 3 [Option ID = 8211]
4. 4 [Option ID = 8212]

3)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social. economic and political effects that will leave deep and

longstanding scars. UNDP is the technical lead in the UN's gocio economic recovery,
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alongslde e neaiun resporse iead DY ¥valr, and thne LrloDal ITumanitarian nesponse Flarl,
and working under the leadership of the UN Resident Coordinators. Every day. people are

losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World

Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TN i WEYHYS® ¢ a9 36 18 76U T8 99 6 36 2

FIAT T FITS- 19 HeMRI THR THE T STYAYd 37T TR w9 iR fimta favagg & o i v=w
a9t T R0 fimet ad W sifiw A F <R § cu sgva % @Y 97 T SerRE H SisH SO
e # e Yo 2| 99 T SEE B9 A 10 TR A I S el g & iR ol weear # el @
T SEET W I U8 W 8| Weg A TR TR e W W AT B, T4 Th SEE
amifawm-alls @z ot 21 3@ = wEF =i ow wwitE ) e fOTmwr amts onfie el
TaHifos wurE usd T 8 ek o o o e e w1 o 21 ges ug s gt il afamfy
(ferarll) 1 9 w1 31 ot  aoiiehl cd e AR @ R, WY B AR FIva TR W F Wedr ¥ 99 B
A wedl geg B i @ W 2 o 7 Afvaw geam e TEem % wE W ff 3 @ Eiee
ok & Aged ¥ s = 11 31w R ot st el it e men @ 21 o 9 gar B afifoufan
e GHFE 2P weT it Fivlt g gidta Tl % sies iR wig-ae @l 92 21 siaddm am gneA
A 2 5 400 fafemm (40 =) @ it TefE s Rt 2| faza 9% 3 agaR A & R s e
g=-T (ifda) 4 110 fafermm smfch sen = w0t st goem stfime 2 B 800 fufemm (80 )
AT AT gRed) stEtEl W P A § awd TE g )

Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica
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[Question ID = 2054][Question Description = Q48_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8213]
2. 2 [Option ID = 8214]
3. 3 [Option ID = 8215]
4. 4 [Option ID = 8216]

4)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soelal, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small

islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
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lnternational Lapour urganisation estunates that 4UU million jobs would pe 1ost, L he world

Bank projects a US 3110 billion declhine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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FIAT FPE FIfag- 19 HEMRT TAR W99 1 SIaqd 4as e g iR g favaag = o & wsm
a1 AR 21 iewt ad % sifts B § ol o oud s % WY TR AERE STEREH DS T
HETdT ® Tl IR B o1 T q@E B U 10 TG AN S S el g & AR gl wear B gl w6
T SEAE Sy IS U L@ 2| UGY AE WEWH WREA GHe ¥ wE ARE B, @ Ok g
AmTE-E w@we f 3| 2@ W UOT e W uWiaT 2) e el gentas omds iR
IR T T A 3 Rk A TR R A A @ Ty A s i
(Feradl) # g @ St ot w Tl e WaF 9 T 8, WY o I% fava e wied % ueEm U we ©
@ wedl gedl ol 3@ w ¥ oaw u Avew oedE et freem & oW s o g @ s
5% % Aged § s = @1 21wt A @ st e ol s men @ 1 5 98 e fe et
w9 e w50 wHed )R g difla T % glew 3R umg-ge il 98 2 audiE s uhed W
I 2 5 400 fafemm (40 =) @ it Teie o v B fara d% J R A R HRoTm e
g-Tau (W) # 110 ffemm smieh ser H = snof) gom sfime 2 5 500 fafema (80 #U3)
AT AT gRend) Sl g R d awdd TE g )

Which of the following organization has given technical lead in the UN's socic-economic recovery plan?
(1) UNDP  (2) UNICEF
(3} UN-GHRP  (4) UNSC

=1 4 @ f&Fm gen 3 UN it amnfas et afamta (feradl) e =1 9903 vem e & 7
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UNDP (2) UNICEF
UN-GHRP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20N0V_S1_SHAAN]
1. 1 [Option ID = 8217]
2. 2 [Option ID = 8218]
3. 3 [Option ID = 8219]
4, 4 [Option ID = 8220]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 hillion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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HIAT T FITS- 19 HeMR THR THE T S1YAqd 37T TR o9 iR fidta favagg & o i v=w
€t T R1 fimet ad * sifim A § wfen § cud sgva % @Y 95 A SeRE H SisH SO
Aerg § A P 2| oW qF gE:E FI U 10 TR AT A I T g € R gt wear @il
T SEEE 9 I8 U W 3| g AE TR TR e W W oUT B, I8 Th SEE
amfam-alls @z ot 21 3m = wEF =afs ow waite 2 s faTmwd s onfie oii
TreHifors wure usd T 8 RNk o g wE e P A o 21wk ug i gt anfie afamfy
(ferarll) 31 9 T 31 ot o aoiiehl cd e AR @ R, WY B AR FIva TR we F Wedr ¥ 99 @
= wedl gEal B i 3@ @ 2 oW 7w AfTew o eghem FEsm % e A off 3 @ Eise
G < Yged § Fous e g 31w RA o sret S sit s el @ 21w 9 gan B afifeatae
w6 WA 2P T | R g ifi Tgl % clew o wug-ae wiefl ug 3| SiauEl 3w wed W
sga 2 5 400 fafeem (40 =) @ i iE W B farm ds T amm A d R wm e
g-tao (W) # 110 ffema smieh swen F wh snof) gom sifimm 2 B 500 fafema (50 #%)
ST AT gRed) Sl g R § and TE g )

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions

Hifas-19 % 30 § frefafaa § o B @i/ afaem % &g 2 3 as@ F qurEA e e

(1) T 33 (2) @R wi=E g
(3) Tt gfaee (4) Hefe afiem

[Question ID = 2056][Question Description = Q50_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4. 4 [Option ID = 8224]




